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Unit | Number System Real Number Multiple Choice Questions

1. The decimal representation of will

2 x5

A1l

B.2

C.3

D. non terminating number


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qXMZh9NNvybu

Answer: B

° Watch Video Solution

2.2.35is a

A. rational number

B. irrational number

C. a terminating decimal number

D. both (a) and (c)

Answer: A

o Watch Video Solution

3. If HCF of two numbers is 1, the number are called relatively

or


https://dl.doubtnut.com/l/_qXMZh9NNvybu
https://dl.doubtnut.com/l/_hW661ROQmktU
https://dl.doubtnut.com/l/_XOkRdRSQ1qPR

A. prime , coprime

B. composite ,prime

C.both (a) and (b)

D. none of these

Answer: A

° Watch Video Solution

4. For what least value of 'n, a natural number (24)" is divisible by 8
?

A.O0

B.—1

C.1

D. no value of n is possible


https://dl.doubtnut.com/l/_XOkRdRSQ1qPR
https://dl.doubtnut.com/l/_YF1DJOBaLFNd

Answer: C

° Watch Video Solution

5.7 x11 x13 x 15+ 15is a

A. composite number

B. prime number

C. whole number

D. both (a) and (c)

Answer: D

o Watch Video Solution

6.The HCF of 5 and 2% is


https://dl.doubtnut.com/l/_YF1DJOBaLFNd
https://dl.doubtnut.com/l/_3Kl9efAbEHbD
https://dl.doubtnut.com/l/_rGUvgPEQRMh4

A.O

B.1

C.13

D. 26

Answer: B

° Watch Video Solution

294
7. After how many place will decimal expansion of %110 terminate ?

A2
B.3
C.4

D. will not terminate

Answer: B


https://dl.doubtnut.com/l/_rGUvgPEQRMh4
https://dl.doubtnut.com/l/_6w5e1NFwCc3i

o Watch Video Solution

8. Given positive integers x and y such that x = my + n , where m

and n are unique integers then :

A. n=1

BO<n<uy

Co0<n<y

D.n>y

Answer: B

o View Text Solution

9. Two positive integer a and b are written as a = z3y%, b = zy®,

the LCM of (a,b) is


https://dl.doubtnut.com/l/_6w5e1NFwCc3i
https://dl.doubtnut.com/l/_IDkmDznG7vEX
https://dl.doubtnut.com/l/_GRxeVhIorict

Answer: A

o Watch Video Solution

10. Given that HCF (306, 657) =9, find LCM (306, 657).

o Watch Video Solution

11. Check whether 6" can end with the digit O for any natural number

n.

o Watch Video Solution



https://dl.doubtnut.com/l/_GRxeVhIorict
https://dl.doubtnut.com/l/_yqfoqch0w42V
https://dl.doubtnut.com/l/_N92yLU2vfgvm

12. Given that HCF (96,404) is 4, find the LCM ( 96,404)

o Watch Video Solution

13.1f 6.249 is expressed in the form % , what can you say about q ?

o Watch Video Solution

14. If 2.347 is expressed in the % , Wwhat can you say about q ?

o Watch Video Solution

15. Can 15" end with the digit O, for any natural number n . Justify

your answer .

o Watch Video Solution



https://dl.doubtnut.com/l/_N92yLU2vfgvm
https://dl.doubtnut.com/l/_q1Z1ElRCXFyV
https://dl.doubtnut.com/l/_pGdaENs0nCJ9
https://dl.doubtnut.com/l/_z7hvNP0PDUjx
https://dl.doubtnut.com/l/_0mS7bpqqjXBc
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16. Without actual division , find the decimal representation of 100

o Watch Video Solution

17. Fundamental Theorem of Arithmetic

o Watch Video Solution

18.1s 13 x 19 x 29 4 29 prime or composite ? Justify .

o Watch Video Solution

19. Are the smallest prime and the smallest composite number

coprime ? Justify .

o Watch Video Solution



https://dl.doubtnut.com/l/_0mS7bpqqjXBc
https://dl.doubtnut.com/l/_tlj9ZDMR9Tmr
https://dl.doubtnut.com/l/_Yh553NXWCavK
https://dl.doubtnut.com/l/_TK5iWmaNeXmy
https://dl.doubtnut.com/l/_YOavb4in0vV9

20.The LCM and HCF of two natural number is 12 and 2 respectively.

If one numbers is 4 . Find the other numbers .

o Watch Video Solution

21. If two positive integers a and b are expressible in the form
a = pg® and b = p’q; p, g being prime numbers, then LCM (a, b) is

pq (b) p*¢® (o) p*¢® (d) p’¢°

o Watch Video Solution

22. Let x = —— be a rational number . Then x has decimal
20 x 25

expansion which terminates :

o Watch Video Solution



https://dl.doubtnut.com/l/_YOavb4in0vV9
https://dl.doubtnut.com/l/_vA2Y4X6SMHQX
https://dl.doubtnut.com/l/_0cv6oZglWdDq
https://dl.doubtnut.com/l/_wG0ctLXXmqfr

Unit | Number System Real Number Short Answer Type Questions

1. If (z — 3) is the HCF of 2® — 22> 4+ pz + 6 and 2% — 5z + ¢,

find 6p + 5q

° Watch Video Solution

2. Can the HCF and LCM of two numbers be 27 and 288 ?

o Watch Video Solution

3.Show that 3 4 /2 is an irrational number.

o Watch Video Solution

4.Prove that 2,/3 — 5 is irrational .

| o


https://dl.doubtnut.com/l/_Qoy4bcuLzPOg
https://dl.doubtnut.com/l/_RXrxJrnoEvX2
https://dl.doubtnut.com/l/_63DVyr3dFc3a
https://dl.doubtnut.com/l/_Wv3AGbVDaUBB

[ & Watch Video Solution ]

Unit | Number System Real Number Long Answer Type Questions

1. Show that reciprocal of 3 + 24/2 is an irrational number

o Watch Video Solution

2. Three bells toll at intervals of 12 minutes , 15 minutes and 18
minutes respectively . If they start together , after what time will

they next toll together ?

o Watch Video Solution

3.Show that (/3 + \/3)2 is an irrational number .

o Watch Video Solution



https://dl.doubtnut.com/l/_Wv3AGbVDaUBB
https://dl.doubtnut.com/l/_gs1oAozZyBQj
https://dl.doubtnut.com/l/_jsMYg6UNmw93
https://dl.doubtnut.com/l/_V7LZS2vxhqw6
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4. Find whether decimal expansion of o is a terminating or non -

terminating decimal . If it terminates , find the number ofdecimal

places its decimal .

o Watch Video Solution

5. Write the HCF and LCM of smallest odd composite number and
the smallest odd prime number . If an odd number p divisible ¢* ,

then will it divide ¢ also ? Explain .

o Watch Video Solution

6. Prove that /5 is an irrational number . Hence prove that 3,/5 + 7

is an irrational number .

o Watch Video Solution



https://dl.doubtnut.com/l/_V7LZS2vxhqw6
https://dl.doubtnut.com/l/_ZMoSev67GlRE
https://dl.doubtnut.com/l/_B3v73yHYd5D4
https://dl.doubtnut.com/l/_jdY5R0ourF1m

7. Prove that 3 + 4,/3 is an irrational number .

o Watch Video Solution

Unit li Algebra Polynomials Multiple Choice Questions

1. Degree of the polynomial 2z* + 32 — 522 + 92 + 1is

A3
B.1
C.2

D.4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9Qjn8KJeFIQJ
https://dl.doubtnut.com/l/_rzGp7pQXq4hq
https://dl.doubtnut.com/l/_ProlmAv8I2PA

2. The zeroes of a polynomial 2> + 5z — 24 are

A. one positive and one negative
B. both positive
C. both negative

D. both equal

Answer: A

° Watch Video Solution

3.If one of the zeroes of the cubic polynomial az® + bz + cx + d is

zero, the product of the other two zeroes is :


https://dl.doubtnut.com/l/_ProlmAv8I2PA
https://dl.doubtnut.com/l/_MBYGUGNLYL9R

Answer: B

o Watch Video Solution

4. A quadratic polynomial , whose zeroes are —3 and 4 is

A.x2—:n—|—12

B.z2 + z + 12

C.22% + 2z — 24
2 X

x
D.— — = —
g 2 °

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_MBYGUGNLYL9R
https://dl.doubtnut.com/l/_0C989PnaApSz

5. If one root of the equation (k — 1)z? — 10z 4+ 3 = 0 is the

reciprocal of the other, then the value of is

A3
B.4
C.1

D. none of these

Answer: B

° Watch Video Solution

3

6. The zeroes of the polynomial 3 — 2z?> —z + 2 are

A.0,2,1

B.1,2, — 1

cl, —2 —1


https://dl.doubtnut.com/l/_U1oiXsyfluve
https://dl.doubtnut.com/l/_kIum9YnUo1Yr

D.1, — 2,1

Answer: B

o Watch Video Solution

7.What will be the degree of the remainder if 3yt —6y? —8y—5
is divided by a quadratic polynomial?

A3

B.2

C.1

D.1orO

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_kIum9YnUo1Yr
https://dl.doubtnut.com/l/_LjTI9Wal58bU
https://dl.doubtnut.com/l/_zK18t1Nw8YMj

8.The graph of polynomialp(x) is shown .
1

The number of zeroes of p(x) is :

A3
B.4
C.5

D.6

Answer: B

[ -


https://dl.doubtnut.com/l/_zK18t1Nw8YMj

| o Watch Video Solution

9. The polynomial y=p(x) intersects the
(—3,0),(0,1),(1,0) and (3,0)

Find the zeroes of the polynomial are :

A —-3,0,3
B.—3, — 1,0
c-3,13
D.—1,0,1
Answer: C

axes

at

o Watch Video Solution

10. If one zero of the quadratic polynomial 2% + 3z + k is 2 then the

value of k is


https://dl.doubtnut.com/l/_zK18t1Nw8YMj
https://dl.doubtnut.com/l/_lifeEOYXRLNQ
https://dl.doubtnut.com/l/_hHbV9heuPWi9

A.10

B.—10

C.5

Answer: B

o Watch Video Solution

Unit li Algebra Polynomials Very Short Answer Type Questions

1. A teacher after teaching the chapter polynomial in class 10th ,
wrote the sum and product of zeroes respectively on the blackboard
to test the skill grasped by his students .Find out the polynomials

that the teacher has in his mind .

A.2 and /2


https://dl.doubtnut.com/l/_hHbV9heuPWi9
https://dl.doubtnut.com/l/_p35QIjcQd4H7

B.2 — /2 and 2 — /7

C.v/3 and — /5

D 2 d 1

3 A Ty
Answer:

o View Text Solution

2. Read the following passage and answer the questions that follows

A teacher told 10 students to write a polynomial on the black board.

Students wrote

1. 2242 6. x—3

2. 2z +3 7. zt+z?+1
3. 234 z22+1 8 22 +2x+1
4., z3 +222+1 9. 2z3 —2?

5. x2—2x+1 10. z*—1

(i) How many students wrote cubic polynomial

(ii) Divide the polynomial (z* + 2z + 1) by (z + 1).

[ -


https://dl.doubtnut.com/l/_p35QIjcQd4H7
https://dl.doubtnut.com/l/_zKZouBqOPmHF

| o Watch Video Solution

3. Zeroes of a polynomial p(y) is of the point , wherethe grapth

intersects the y - axis .

o Watch Video Solution

4.Find the zeroes of 22 + 152 = 0.

° Watch Video Solution

5.1f sum and product of the zeroes of ky® + 2y + 3k are equal , find

k.

o Watch Video Solution



https://dl.doubtnut.com/l/_zKZouBqOPmHF
https://dl.doubtnut.com/l/_F99rcKfLwylZ
https://dl.doubtnut.com/l/_QipfSHkkV0ge
https://dl.doubtnut.com/l/_JzReyMbfTIyY

6. What type of a graph will be represented by the polynomial

— 322 + bz + 4?

o Watch Video Solution

7. If one of the zeros of the quadratic polynomial f(x) =
4z® — 8kx — 9 is equal in magnitude but opposite in sign of the

other, find the value of k.

o Watch Video Solution

Unit li Algebra Polynomials Short Answer Type Questions

1. Obtain all the zeroes of the polynomial

z* + 42® — 22* — 20z — 15 , if two of its zeroes are /5 or — /5.

o Watch Video Solution



https://dl.doubtnut.com/l/_WriwFJA8fPIq
https://dl.doubtnut.com/l/_ODl6Nc3Atx12
https://dl.doubtnut.com/l/_wqvZJKX7AlsB

2. A quadratic equation 2z% — 3z + ! has zeroes as a and 8 Now

form a quadratic equation whose zeroes are 3a and 383

° Watch Video Solution

3. Find the zeroes of the quadratic polynomial 32% — 2 and verify the

relationship between the zeroes and the coefficients .

o Watch Video Solution

4.If o, B, 7y are zeroes of polynomial 62> + 3z% — 5z + 1, then find

thevalueofa ™t + 1 + 471,

o Watch Video Solution



https://dl.doubtnut.com/l/_wqvZJKX7AlsB
https://dl.doubtnut.com/l/_dppLt9pwhQuD
https://dl.doubtnut.com/l/_pStPBoIkCeo9
https://dl.doubtnut.com/l/_Uzdo4lsd3LzV

5. Obtain all the zeroes of the polynomial

z* + 42® — 22> — 20z — 15, if two of its zeroes are /5 and — /5

o Watch Video Solution

6. If the zeroes of a polynomial 2> — 8z + k = 0, are the HCF of

(6,12) , then find the value of k.

o Watch Video Solution

7.Find the zeroes of the quadratic polynomial % — 36 and verify the

relationship between the zeroes and the coefficients .

° Watch Video Solution



https://dl.doubtnut.com/l/_TroZe38J1fz7
https://dl.doubtnut.com/l/_TlsETT3dd20h
https://dl.doubtnut.com/l/_G82vg8XpHKZO

8. Find the quadratic polynomial whose sum of the zeroes is 8 and

one zero is 4 + 2,/3.

o Watch Video Solution

9. At how many points will the polynomial > + 8 intersect the x-axis

?

o Watch Video Solution

Unit li Algebra Polynomials Long Answer Type Questions

1.If o and B are the zeroes of the polynomial 2 + 6z + 9 then form

a polynomial whose zeroes are —a and — 3

o Watch Video Solution



https://dl.doubtnut.com/l/_K1ckuBW3W4AO
https://dl.doubtnut.com/l/_n3cHBZjpIttb
https://dl.doubtnut.com/l/_uof9L0td2zr1
https://dl.doubtnut.com/l/_UeRMFNEvauV6

2.If one zero of the quadratic polynomial f(x) = 4z% — 8kx + 8z — 9

is negative of the other , then find the zeroes of kz? + 3kz + 2.

o Watch Video Solution

3. Find the zeroes of the quadratic polynomial 3z? — 2 and verify the

relationship between the zeroes and the coefficients .

o Watch Video Solution

4. For each of the following , find a quadratic polynomial whose sum
and product respectively of the zeroes are as given . Also find the

zeroes of these polynomial by factorisation .

L —8 4
(i) Tag(“)—2\/§7 -9

o Watch Video Solution



https://dl.doubtnut.com/l/_UeRMFNEvauV6
https://dl.doubtnut.com/l/_KnnM54DMduSD
https://dl.doubtnut.com/l/_j3Mzw06J1Kyb
https://dl.doubtnut.com/l/_YFjRpSG01J4t

5. Obtain all the zeros of the polynomial

f(z) = 3z* + 62> — 22 — 102 — 5, if two of its zeros are

)
d— .2
van 3

o Watch Video Solution

1
6. Find the zeroes of the polynomial z? + . 2 Hence verify the

relationship between the zeroes and the coefficients.

o Watch Video Solution

7.4 chairs and 3 tables cost Rs 2100 and 5 chairs and 2 tables cost Rs

1750. Find the cost of a chair and a table separately.

o Watch Video Solution



https://dl.doubtnut.com/l/_YFjRpSG01J4t
https://dl.doubtnut.com/l/_ms9FLU2Dj0ph
https://dl.doubtnut.com/l/_okPwoDAx2kNS

8 > + - =2 and 0 > =1 then find th
S and — —— en fin e

values of x and y

o Watch Video Solution

9.6(azx + by) = 3a + 2b & 6(bx — ay) = 3b — 2a

o Watch Video Solution

10. Solve:

1 3

—_ 4+ =9
z (]

1 4

— _Z_9
z (]

o Watch Video Solution

1. Solve for (z,y): 2z — 3y = 5,3z + 4y = — 1.



https://dl.doubtnut.com/l/_D564AYA9q3gc
https://dl.doubtnut.com/l/_YpCUjtEYqzsL
https://dl.doubtnut.com/l/_KaUVRZBtgVq5
https://dl.doubtnut.com/l/_c7EuoMcDOkuh

| o Watch Video Solution

12. In a two digit number , the digit in the unit place is twice of the
digit in the tenth place . If the digits are reversed , the new number

is 27 more than the given number . Find the number

o Watch Video Solution

13. Students are made to stand in rows . If one student is extra in a

row there would be 2 rows less . If one student is less in a row there

would be 3 rows more . Find the number of students in the class .

o Watch Video Solution

14. Graphically, solve the following pair of equations

2x+y=6 and 2x-y+2=0


https://dl.doubtnut.com/l/_c7EuoMcDOkuh
https://dl.doubtnut.com/l/_yUKR14KTUVJo
https://dl.doubtnut.com/l/_Hqy5I0tCHjWa
https://dl.doubtnut.com/l/_ghg0tkNX0OPj

Find the ratio of the areas of the two triangles formed by the lines
representing these equations with the X-axis and the lines with the

y-axis.

o Watch Video Solution

15. Solve the following system of equations by method of cross-
multiplication:

(a+20)x + (2a —b)y=2, (a—2b)z+ (2a+b)y=3

o Watch Video Solution

16. Solve the following questions.
(i) A train travels 360 km with uniform speed.The speed of the train
is increased by 5km / hr, it takes 48 minutes less to cover the same

distance. Find the initial speed of the train.

o Watch Video Solution



https://dl.doubtnut.com/l/_ghg0tkNX0OPj
https://dl.doubtnut.com/l/_zejKFXAWAw01
https://dl.doubtnut.com/l/_xpFX4kwpQA3S

17. Solve the following pair of linear equations in 2 variables:

£—|—£—a-|—band——|—l:2
a b b?

° Watch Video Solution

18. A boat covers 32 km upstream and 36 km downstream in 7 hours .
In 9 hours it cancover 40 km upstream and 48 km downstream.find

the speed of the stream and that of the boat in still water .

° Watch Video Solution

19. A man travels 600 km partly by train and partly by car . It takes 8
hours and 40 minutes if he travels 320 km by train and the rest by
car . It would take 30 minutes more if he travels 200 km by train and

the rest by car, Find the speed of the train and the car.

| ° Wlakdl.\ntdaa CcAl..bfamm


https://dl.doubtnut.com/l/_xpFX4kwpQA3S
https://dl.doubtnut.com/l/_iSII0NyypYl9
https://dl.doubtnut.com/l/_hjUncHR7khOm
https://dl.doubtnut.com/l/_rxHmvMkicqLF

L ¥YvVdtilll VIUCV JVIULIVII )

20. Solve the following system of equations graphically :

dr —3y+4=0

dr + 3y —20=0

Area find the area of the triangle formed between the lines and the x

- axis .

o Watch Video Solution

21. Two places 'A' and 'B' are 120 km apart from each other on a
highway .A car starts from 'A' and another from 'B' at the same time .
If they move in the same direction , they meet in 6 hours and it they
move in opposite direction , they meet in 1 hour and 12 minutes .Find

the speed of each car.

o Watch Video Solution



https://dl.doubtnut.com/l/_rxHmvMkicqLF
https://dl.doubtnut.com/l/_vcdClqJiTH6n
https://dl.doubtnut.com/l/_f0UUjnnZvdrX
https://dl.doubtnut.com/l/_bdI4GNHLLWdQ

22.8 men and 12 boys can finish a piece of work in 5 days, while 6
men and 8 boys can finish it in 7 days. Find the time taken by 1 man

along and that by 1 boy alone to finish the work.

° Watch Video Solution

23. The sum of a two digit number and the number obtained by
reversing the order of its digits is 121, and the two digits differ by 3.

Find the number.

o Watch Video Solution

24, Solve the following system of equations:

Tx — 2 8 7
u:5, u:w
Ly Ly

° Watch Video Solution



https://dl.doubtnut.com/l/_bdI4GNHLLWdQ
https://dl.doubtnut.com/l/_RCR2I5oC2gi1
https://dl.doubtnut.com/l/_43erhAqmPkqe

Unit li Algebra Pair Of Linear Equations In Two Variables Multiple

Choice Questions

1.5 pencils and 7 pens together cost Rs 50, whereas 7 pencils and S

pens together cost Rs 46. Find the cost of one pencil and that of one

pen.

A.Rs 5

B.Rs 6

C.Rs3

D.Rs 4

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_zTJjgmRqpn7J

2. The value of 'k so that the system of equations

3r —y —5=0 and 6z — 2y — k = 0 has infinite solutions

Ak= —10
B.k =10
Ck= —8
D.k=28
Answer: b

° Watch Video Solution

3.Solvepr +qu=p—q,qr —py=p-+q

Ax= —landy=1

Bz =1and y=1

Cz=0and y=0


https://dl.doubtnut.com/l/_9K7bxX2Ywvhm
https://dl.doubtnut.com/l/_c57rhvk5jMd8

Dr=1land y= —1

Answer: d

o Watch Video Solution

4. A system of two linear equations in two variables is consistent , if

their graphs .

A. do not intersect at any point

B. coincide

C. cut the x-axis

D. intersect only at a point or they coincide with each other .

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_c57rhvk5jMd8
https://dl.doubtnut.com/l/_C9UJJhNWdqws
https://dl.doubtnut.com/l/_HJ87UDi5OloP

5. The value of k for which the system of equations kx — y = 2 and

6z — 2y = 3 has a unique solution,is = 3(b) #3(c) #0(d) =0

o Watch Video Solution

6. The equation az" + by™ + ¢ = O represents a straight line if .

D. None of these

Answer: ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_HJ87UDi5OloP
https://dl.doubtnut.com/l/_RcyzKUEI3d7x

7. A pair of linear equation in two variables which has a common

point i.e., which has only one solution is called a .

A. Consistent pair

B. Inconsistent pair

C. Dependent pair

D. None of these

Answer: a

° Watch Video Solution

8. For which value(s) of p will the lines represented by the following
pair of linear equations be paralle
3z —y—5=0

6 —2y—p=20


https://dl.doubtnut.com/l/_TQ0tTYRpZCnw
https://dl.doubtnut.com/l/_ho3IL7hIiZ1i

A. all real values except 10

N

O
| = po| on

Answer: a

° Watch Video Solution

9. In a cricket match Kumble took three wickets less then twice the
number of wickets taken by srinath . The product of the number of
wickets taken by these two is 20 , then the number of wickets taken
by Kumble is

A 4

B.5

C.10


https://dl.doubtnut.com/l/_ho3IL7hIiZ1i
https://dl.doubtnut.com/l/_ken4PoraOkPI

D.12

Answer: b

o Watch Video Solution

10. If a pair of linear equations is consistent then their graph lines

will be

A. parallel

B. coincident

C. intersecting

D. either intersecting or coincident

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_ken4PoraOkPI
https://dl.doubtnut.com/l/_wHPtd4NRpXGq
https://dl.doubtnut.com/l/_h7hNLBv38T1j

1. The lines 3x — 4y = 9 and y = 0 meet at :

A (—3,0)

B. (3, 0)

Answer: b

o Watch Video Solution

12. For what value of k, will the lines represented by the following
pair of linear equation be parallel

3r +2ky=2and 2x +5y+1=20

° Watch Video Solution



https://dl.doubtnut.com/l/_h7hNLBv38T1j
https://dl.doubtnut.com/l/_mu4ZAqVNoUXH

Unit li Algebra Polynomials Very Short Answer Type Questions

1. The pair of linear equations y=0 and y = — 5 has

solutions .

o Watch Video Solution

2.is the following system of linear equations consistent/inconsistent
?Give reason .
3z +2y =11

9z + 6y =7

° Watch Video Solution

3. The value of k for which the system of equations z + 2y — 3 =0

and 5z + ky + 7 = 0 has no solution, is (a) 10 (b) 6 (c) 3 (d) 1

| o Wiak~hh \NNAdAA CAliikian



https://dl.doubtnut.com/l/_bFUXBd7Ejj8Y
https://dl.doubtnut.com/l/_wgUetMpKksvV
https://dl.doubtnut.com/l/_wzVjn2hCvHCI

|\ A A K- LAEER 'ALAYAr® lVAL"1LY10] J)

4.Find the co-ordinate where the line x — y = 8 will intersect y-axis

° Watch Video Solution

5.1n an election contested between A and B ,A obtained votes equal
too twice the no. of persons on the electoral roll who did not cast
their votes and this later number was equal to twice his majority
over B . If there were 18000 persons on the electoral roll . How many

voted for B .

o Watch Video Solution

6.Solve for xand y: 41z + 53y = 135, 53z + 41y = 147 .

° Watch Video Solution



https://dl.doubtnut.com/l/_wzVjn2hCvHCI
https://dl.doubtnut.com/l/_guRZ3zQWkU43
https://dl.doubtnut.com/l/_vkVHYH9YFEbu
https://dl.doubtnut.com/l/_J3NvyLbjfDLE

7. At a certain time in a deer park , the number of heads and the
number of legs of deer and human visitors were counted and it was
found there were 39 heads and 132 legs .

Find the number of deer and human visitors in the park.

o Watch Video Solution

8.Solve 2z 4+ 3y = 11 and x — 2y = — 12 algebraically and hence

find the value of m for which y = mz + 3.

o Watch Video Solution

9. Find the values of a and b for which the following system of

equations has infinitely many solutions :


https://dl.doubtnut.com/l/_J3NvyLbjfDLE
https://dl.doubtnut.com/l/_fzO9c93MNqAV
https://dl.doubtnut.com/l/_YmwvmgpQ8Htw
https://dl.doubtnut.com/l/_5Jy7TDjvisVX

2 + 3y =17

2ar + ay = 28 — by

o Watch Video Solution

10. Write the nature of the

6r —2y+9=0and 3z —y+12=10

A. coincident

B. parallel

C. intersecting exactly at one point

D. perpendicular to each other

Answer: B

equations

o Watch Video Solution



https://dl.doubtnut.com/l/_5Jy7TDjvisVX
https://dl.doubtnut.com/l/_V0BpOOQe7r6R

11. Write the equation of a line which is parallel to the line whose

equationis 5 + 3y + 11 = 0

o Watch Video Solution

122 For what value of k will the equations

4z 4+ by = 12 and kx + 10y = 48 represent intersecting lines ?

o Watch Video Solution

13. For what value of 'k' will the following system of equations have
infinitely many solutions ?

3 +2y=1,2k+ )z + (k+2)y=k—1

° Watch Video Solution



https://dl.doubtnut.com/l/_mxA6iBmVXkCY
https://dl.doubtnut.com/l/_pb4K3nPsxNdP
https://dl.doubtnut.com/l/_InEg1mvKZ2mF

14. Find the value of k , for which the system of equation

x — ky = 2 and 3x + 6y = 6, has infinitely many solutions .

o Watch Video Solution

Unit li Algebra Quadratic Equations Multiple Choice Questions

1. For equal root, z2 — 6z + k value of k is

A.9
B.3
C.2

D.8

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ERY9TN93jmQh
https://dl.doubtnut.com/l/_lHztbYHBVOgG

2.The quadratic equation whose roots are 3 and —3 is .

AzZ—9=0

B.z? -3z —3=0

Czl—-22+2=0

D.z2+9=0

Answer: A

o Watch Video Solution

3. Which of the following have real root .

A222+z2+1=0

B.z2+xz+1=0

Czl—6x+6=0


https://dl.doubtnut.com/l/_lHztbYHBVOgG
https://dl.doubtnut.com/l/_s2jVGTv35b2C
https://dl.doubtnut.com/l/_Pcjvrz6R1ytW

D.2z% + 152 + 30 = 0

Answer: C

o Watch Video Solution

4. Which of the following is quadratic equation ?

Azl -2 —\5—z=0

B.322 — 5z +9=12> — Tz + 3

2
C.<x+1) :3(x+1>
T r+4

D.z3 + 2 + 36

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Pcjvrz6R1ytW
https://dl.doubtnut.com/l/_RIUOyqWJksbq

5. If the equation (a”® + b*)z® — 2(ac + ba)z + (¢ + d*) = 0 has
equal roots, then which one of the following is correct?

A.ad = bc

B.ab = cd

C.ad = v/bc

D.ab = \/cd

Answer: A

° Watch Video Solution

6.(x +1)® + 22 = O has

A. no real roots
B. one real root

C. two real root


https://dl.doubtnut.com/l/_0Osjn2eGpaX6
https://dl.doubtnut.com/l/_ka9MmxnS6Gk3

D. four real root

Answer: A

o Watch Video Solution

7.The equation kx> 4+ kz + 1 = 0 has

A. one real root
B. two real roots
C. no real roots

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ka9MmxnS6Gk3
https://dl.doubtnut.com/l/_WHGF1CVaOCG1

8.If the equation 22 — bz + 1 = 0 does not possess real roots, then

which one of the following is correct?

A—-3<b<3
B.—2<b<2

Cb< —2

Answer: B

° Watch Video Solution

9. Four steps to derive the quadratic formula are shown below .

e+ — = =2
a a
n n i 2 B b? — dac
T 2a a 4a?
b2 — 4ac b
(imz = + - =


https://dl.doubtnut.com/l/_bbThjCXLd5lm
https://dl.doubtnut.com/l/_tVhRMc6ZFIfO

, bz b\ —c b\’
Mz +—+ =) = —+ | —
a 2a a 2a

What is the correct order for these steps ?

A. LILILIv
B. IV,ILLII
C. Liv,ILINI
D. LIULILIV
Answer: C

° Watch Video Solution

10. Which of the following equations has 2 as a root?

A2z — Tz +6=0

B.3z2 — 6z +3=0

Cz?—4x+5=0


https://dl.doubtnut.com/l/_tVhRMc6ZFIfO
https://dl.doubtnut.com/l/_NLkkTOX01ILk

D.z2 + 3z —12=10

Answer: A

o Watch Video Solution

Unit li Algebra Quadratic Equations Very Short Answer Type Questions

1. Solve the following quadratic equations :

()22 — 452 + 324 = 0 (i) 22 — 552 + 750 = 0

° Watch Video Solution

2.Solve the following quadratic equations :

()22 — 452 + 324 = 0 (i) 22 — 552 + 750 = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_NLkkTOX01ILk
https://dl.doubtnut.com/l/_DyaSBuFd7eob
https://dl.doubtnut.com/l/_NABuhsEUpPMg
https://dl.doubtnut.com/l/_1L0gsyTTUviy

3. Find the nature of roots of the given quadratic equation :

222 — 6z +3 =0

o Watch Video Solution

4.1s(z 4+ 2)* = 2z(z — 2) , a quadratic equation ?

o Watch Video Solution

5. Find the value of k , for which one root of the quadratic equation

kz? — 14z + 8 = Ois 6 times the other .

o Watch Video Solution

Unit li Algebra Quadratic Equations Short Answer Type Questions



https://dl.doubtnut.com/l/_1L0gsyTTUviy
https://dl.doubtnut.com/l/_2rvnkvo1iSQ7
https://dl.doubtnut.com/l/_s0WMckCLkSIV

1 1
1.———— = — 4+ — + — solve for by factorization method .
(p+q+z) P g =

o Watch Video Solution

2.If — 4 is a root of the quadratic equation z* 4+ pz — 4 = 0 and
the quadratic equation z* + pz + k = 0 has equal roots, find the

value of k-

o Watch Video Solution

3. Find the roots of the following Quadratic Equations by
factrorization .

22 -3z —-10=0

° Watch Video Solution



https://dl.doubtnut.com/l/_O8jfEcjzCF5V
https://dl.doubtnut.com/l/_mOhKXQu0L5a8
https://dl.doubtnut.com/l/_hiLEmS1B7SJw

4. Find the roots of the following Quadratic Equations by
factrorization .

22+ —6=0

o Watch Video Solution

5. Find the roots of following quadratic equation by factorisation:

V222 4+ T2 4+ 5,2 =0

o Watch Video Solution

6. Find the roots of the following quadratic equations by

factorisation:

1
(i)\/ﬁa:2+7m+5\/§:0(ii)2x2—m+g:0

o Watch Video Solution



https://dl.doubtnut.com/l/_KccejhQOU4Hs
https://dl.doubtnut.com/l/_6DbRxh2zazDv
https://dl.doubtnut.com/l/_nD1b7Lqz8H7d
https://dl.doubtnut.com/l/_YyXB0R42DvLQ

7. Find the roots of the following Quadratic Equations by
factrorization .

10022 — 20z +1 =10

o Watch Video Solution

8.Value of xforz2 — 8z + 15 = O is

o Watch Video Solution

9.1f —5 is a root of the quadratic equation 2z* + pz — 15 = 0 and
the quadratic equation p(ar:2 + a:) + k = 0 has equal roots, find the

value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_YyXB0R42DvLQ
https://dl.doubtnut.com/l/_lp3LBzEDMbz8
https://dl.doubtnut.com/l/_MXDh6w7o1Zfh

2
10.If z = 3 and x = — 3 are the roots of the quadratic equation

az® + Tz + b = 0 then find the values of a and b.

o Watch Video Solution

1. Simplify and find the value

T: = - = —zm#123
(z-1(z-2) (z-2)(z-3) 3’ o

of

o Watch Video Solution

12. If roots of equation a —b)z” + (b—c)z + (c—a) =0 are

equal then prove that b 4+ ¢ = 2a

o Watch Video Solution



https://dl.doubtnut.com/l/_5OsZ14OYtnG2
https://dl.doubtnut.com/l/_av7EaFfWqoYq
https://dl.doubtnut.com/l/_IVUYXHcJ0RUy

13. Using the quadratic formula ,solve the quadratic equation :

31
z—— =0
x

o Watch Video Solution

14. Find the roots :

r—3 .’L’-|—3_
r+3 x—3

0,(z #3, —3)

o Watch Video Solution

15.1f p and q are the root of the equation 2% — pz + ¢ = 0, then

what are the vlaues of p and q respectively ?

o Watch Video Solution



https://dl.doubtnut.com/l/_VBOu8er6P0El
https://dl.doubtnut.com/l/_4YNZaL4x5ly1
https://dl.doubtnut.com/l/_g2fIXH4xOZ7z

16. Determine the value of k for which the quadratic equation

4z® — 3kz + 1 = 0 has equal roots :

o Watch Video Solution

Unit li Algebra Quadratic Equations Long Answer Type Questions

1.Solve for z: 92> — 9(a + b)z + (2a® + 5ab + 2b%) =0

o Watch Video Solution

1 1 1 1
2.Solve; ——M8M8M8M = — + — 4+ —
a+b+x a b T

o Watch Video Solution

Unit li Algebra Arithmetic Progressions Multiple Choice Questions



https://dl.doubtnut.com/l/_t5nggd7JnhWi
https://dl.doubtnut.com/l/_Xw0dVnR49ytQ
https://dl.doubtnut.com/l/_WgkwRiEEJFAg
https://dl.doubtnut.com/l/_yUkdcvw9hOds

1. The n™” term of the AP in 2,58 ..1s

Ad3n—1
B.2n — 1
C.3n—2
D.2n — 3
Answer: A

o Watch Video Solution

2. The 17" term of an AP exceeds its 10™ term by 7. Find the

common difference.

A2

C.3


https://dl.doubtnut.com/l/_yUkdcvw9hOds
https://dl.doubtnut.com/l/_rzCGAxfyZDvP

D.1

Answer: D

o Watch Video Solution

3. Find the 10"term of the AP : 2,7,12,...

A. 45
B.47
C.48

D. 50

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rzCGAxfyZDvP
https://dl.doubtnut.com/l/_rRh1RG8Z6CRy

4. If the perimeter of a circle is equal to that of a square, then the

ratio of their areas is

A 22:7

B.14:3

C.14:11

D.11:21

Answer: C

° Watch Video Solution

5.1f the 10®” term of an AP is O , then find the ratio of the 27" term

and the 15 term of the AP.

A l:1

B.17:5


https://dl.doubtnut.com/l/_kKvK8Xe5dzgm
https://dl.doubtnut.com/l/_jwhlHCmnmN5T

C.1:3

D.3:1

Answer: B

° Watch Video Solution

6. Write the next term : 1/12, 1/27, /48, /75. . ...
A. /99
B. /96
C. /108

D.v114

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jwhlHCmnmN5T
https://dl.doubtnut.com/l/_8K1WsI8l6CFX
https://dl.doubtnut.com/l/_DyYghHNLtMAg

7. If 2az+1,a:2—|—:c+1 and 3z2 — 3z + 3 are in A. P then the
value of = :

A1l

B.2

C.1,2

D.—1, —2

Answer: C

o Watch Video Solution

8. Which term of the sequence —1, 3,7, 11,957

A. 25" term

B. 24'"term

C. 23" %term


https://dl.doubtnut.com/l/_DyYghHNLtMAg
https://dl.doubtnut.com/l/_gs9siAhj4xQt

D. 22"%term

Answer: A

o Watch Video Solution

9.1f a, b, ¢, d, e, f are in AP, then (e — ¢) is equal to which one of the

following?
A.2(c—a)
B.2(f — d)
C.2(d —¢)
D.d — ¢

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gs9siAhj4xQt
https://dl.doubtnut.com/l/_65uDDomyLOAd

Unit li Algebra Arithmetic Progressions Very Short Answer Type

Questions

1. Find the first term and the common difference

1

9 13
303037 g

w| ot

o Watch Video Solution

2. Which term of the AP : 121, 117, 113, . . ., is its first negative term?

[Hint : Find n for a,, < 0]

o Watch Video Solution

3. Cheack whether — 150 is a term of the AP. 11, 8, 5, 2,........

o Watch Video Solution



https://dl.doubtnut.com/l/_3nE2D7LbNI7o
https://dl.doubtnut.com/l/_gw7ZTVM9wbty
https://dl.doubtnut.com/l/_pYozjDAEnFDs

4. Which term of the AP: 3,8,13,18,...,is 78?

o Watch Video Solution

5. The common difference the terms of two AP's is same . If the
difference between their 100th terms ?
° Watch Video Solution
6.1s 2,4, 8, 16. . ..... an arithmetic progression ?
o Watch Video Solution
?

7.Can 35 be a term of the sequence —34, — 30, — 26, ........

o Watch Video Solution



https://dl.doubtnut.com/l/_RIyvQaKcyJ60
https://dl.doubtnut.com/l/_2wpnf0RPCKdR
https://dl.doubtnut.com/l/_8CCQla5RTvU7
https://dl.doubtnut.com/l/_WOAiF7w7dJTz

8. What is the common difference of an AP in which a1g — a4 = 32?

o Watch Video Solution

Unit li Algebra Arithmetic Progressions Short Answer Type Questions

1. For what value of n are the nth terms of the following two Aps the

same 13, 19, 25, ... and 69, 68, 67, ...7 Also, find this term.

o Watch Video Solution

2. How many three digit numbers are divisible by 7?

o Watch Video Solution



https://dl.doubtnut.com/l/_FZXabVcDV7pX
https://dl.doubtnut.com/l/_P7oweppeQA2w
https://dl.doubtnut.com/l/_BqMFdrooAz0N

3. Two APs have the same common difference. The difference
between their 100terms is 100, what is the difference between

their 1000"terms?

o Watch Video Solution

4.If the ratio of the sums of m and n terms of AP.is m?: n?, then the

t

ratio of its m™ and n!™ terms is given by

o Watch Video Solution

5. If the 4th term of an AP. is zero, prove that the 25th term of the

AP. is three times its 11th term.

o Watch Video Solution



https://dl.doubtnut.com/l/_O6DSGZBgJ8FS
https://dl.doubtnut.com/l/_DMKD8B5Ya21t
https://dl.doubtnut.com/l/_nzxgjB4vyp0R

6. How many terms of the AP 27, 24, 21 ....should be taken so that

their sum is zero.

o Watch Video Solution

7.How many terms of the sequence 18, 16, 14, . should be taken so

that their sum is zero?

o Watch Video Solution

8. Find the 9th term from the ctowards the first term of the AP.

5,9,13,...,185

o Watch Video Solution



https://dl.doubtnut.com/l/_L70Rtzym5pnI
https://dl.doubtnut.com/l/_uF0cgtg2CxtR
https://dl.doubtnut.com/l/_kPfJ8xqAGuTY

9. If the 7 and 10™ term of an AP are 18 and —6 respectively ,

which term of the AP is zero ?

o Watch Video Solution

10. Find the first negative term of the sequence

185, 181, 177, 173, ...... .

o Watch Video Solution

11. The sum of the first n terms of an AP is given by S, = n* + 5n

find the sixteenth term of the AP.

o Watch Video Solution



https://dl.doubtnut.com/l/_Wgoa9dNMzxHO
https://dl.doubtnut.com/l/_RkIDZmEdHSJQ
https://dl.doubtnut.com/l/_YT7T7zkI9Cl7

12. Two AP's have the same common difference . The first term of the
AP's are 39 and 58 respectively . What is the difference between their

16" terms ?

o Watch Video Solution

13. If m times the m™" term of an AP. is equal to n times its nt" term ,

then show that (m + n)™ term of the AP. is zero .

o Watch Video Solution

14. The houses of a row are numbered from 1 to 49. Show that there
is a value of = such that the sum of the numbers of the houses

preceding the house numbered z is equal to the sum

o Watch Video Solution



https://dl.doubtnut.com/l/_33uOWR4kuEsj
https://dl.doubtnut.com/l/_G6lnXU7vFhcy
https://dl.doubtnut.com/l/_8iVOJ83FbWn2

Unit li Algebra Arithmetic Progressions Long Answer Type Questions

1.If the sum of n terms of an AP. is 3n% + 5n and its mth term is 164,

find the value of m.

o Watch Video Solution

1 1 3
2. Which term of the sequence 20, 19—, 185, 172,- is the first

negative term?

o Watch Video Solution

3. Divide 56 in four parts in A.P. such that the ratio of the product of
their extremes (1st and 4th) to the product of means (2nd and 3rd)

is 5:6.

o Watch Video Solution



https://dl.doubtnut.com/l/_Wt6b87vv2FSE
https://dl.doubtnut.com/l/_tBu1xfB6BotI
https://dl.doubtnut.com/l/_XhuUxfcv1WwY

4. The sums of n terms of three arithmetical progressions are
S1, SoandSs- The first term of each unityand the common

differences are 1, 2and3 respectively. Prove that S; + S3 = 2.5;.

o Watch Video Solution

5.The digits of a positive integer, having three digits, are in A.P. and
their sum is 15. The number obtained by reversing the digits is 594

less than the original number. Find the number.

o Watch Video Solution

6. The ratio of the sum of n terms of two APs is (7n + 1): (4n + 27).

Find the ratio of their m*” terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_bYOpD2hpdoN3
https://dl.doubtnut.com/l/_t9CeysDVV284
https://dl.doubtnut.com/l/_QsFJXmfLckep
https://dl.doubtnut.com/l/_islTDzAzpsW3

7.1f the sum of first 7 terms of an A.P. is 49 and that of its 17 terms is

289, find the sum of first n terms of the A.P.

o Watch Video Solution

8. The sum of the first 9 terms of an AP is 81 and that of its first 20

terms is 400. Find the first term and the common difference of the

AP

o Watch Video Solution

9. The sum of four consecutive numbers in AP. is 32 and the ratio of
the product of the first and last term to the product of two middle

terms is 7:15. Find the numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_islTDzAzpsW3
https://dl.doubtnut.com/l/_sBx9A2sPOiKi
https://dl.doubtnut.com/l/_FTHv2taRP2Mr
https://dl.doubtnut.com/l/_R5ONLwRzztVK

10. If the sum of m terms of an AP is the same as the sum of its n

terms , show that the sum of its (m + n) terms is zero .

o Watch Video Solution

11. How many terms of the AP : 24, 21,18,... must be taken so that their

sum is 78?

o Watch Video Solution

Unit lii Coordinate Geometry Coordinate Geometry Multiple Choice

Questions

1. In the given figure,

MN | | AB, BC = 7.5¢cm, AM = 4cm and MC = 2cm.  Find


https://dl.doubtnut.com/l/_R5ONLwRzztVK
https://dl.doubtnut.com/l/_nS0VtDkODDtL
https://dl.doubtnut.com/l/_taxK1XSflwBa

the length of BN.

A

A.6cm

B.7cm

C.5cm

D.4 cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_taxK1XSflwBa

2.1n figure ,.DE||BC in triangle ABC such that BC =8 cm, AB = 6 cm

and DA =1.5 cm .find DE.

B

A.2cm
B.3 cm
C.4 cm

D.5cm

Answer: A



https://dl.doubtnut.com/l/_itoa8I1wyvX6

| ° Watch Video Solution

3.In the adjoining figure, S and T are points on the sides PQ and PR
respectively of APQR such that PT = 2c¢cm, TR = 4cm and ST

is parallel to QR. Find the ratio of the ares of APST and APQR.

e

O
Py

©|lw |l O =


https://dl.doubtnut.com/l/_itoa8I1wyvX6
https://dl.doubtnut.com/l/_e2s2beV1fDTz

Answer: A

o Watch Video Solution

BC
4.1f AABC-APQR with == — — then ——" %) ;
QRwith op = gthen  ABoa)

A9

B.3

Ol W]+~

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_e2s2beV1fDTz
https://dl.doubtnut.com/l/_GRac2FuzrEZa

5. The shadow of a 5-m-long stick is 2m long. At the same time, the

length of the shadow of a 12.5m high tree is

A. 6.3cm

B.5.4em

C.7.2cm

D.5cm

Answer: D

o Watch Video Solution

Unit lii Coordinate Geometry Coordinate Geometry Very Short Answer

Type Questions

1.If AABC~-ARPQ MB=3cm ,BC=5cm,AC=6cm,RP=6cm and

PQ =10 cm , then find QR.


https://dl.doubtnut.com/l/_FPvrO5p7tj9N
https://dl.doubtnut.com/l/_MoyczvgsEpEK

o Watch Video Solution

2. Let
AABC — ADEF, ar(AABC) = 169cm® and ar(ADEF) = 121cm?

.If AB = 26 cm thhen find DE.

o Watch Video Solution

3.In ADEW, AB||EW .If AD = 4 cm , DE = 12 cm and DW = 24 cm,

then find the value of DB .

o Watch Video Solution

4, AABC~ADEF such that DE=3cm,EF=2cm,DF =2.5and BC =

4 cm . Find the perimeter of AABC.

o Watch Video Solution



https://dl.doubtnut.com/l/_MoyczvgsEpEK
https://dl.doubtnut.com/l/_0Ts8YKNYkhsK
https://dl.doubtnut.com/l/_WgbKtmh8ln2V
https://dl.doubtnut.com/l/_Ri9lk1IMuWpE

5.If triangle ABC is similar to triangle PQR , Perimeter of triangle ABC

=30 cm, Perimeter of triangle =45 cm, PR =9 cm then find AC.

° Watch Video Solution

6. The areas of two similar triangles ABC and DEF are
144em? and 8lem? respectively . If the longest side of the larger

triangle is 36 cm, find the longest side of the other triangle .

o Watch Video Solution

7. In triangle ABC, DE | | BC 42D 3 eac-as
. In triangile , an _DB_(5) . = 4.0 dn

.Find AE.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ri9lk1IMuWpE
https://dl.doubtnut.com/l/_gtVsCSHUakX4
https://dl.doubtnut.com/l/_MAwOPeFQYTLM
https://dl.doubtnut.com/l/_KfBzzMLVFd3W
https://dl.doubtnut.com/l/_L7WsH2mESIHR

8. P and Q are the points on the sides DE and DF of a triangle DEF
such that DP = 5 cm, DE = 15 cm, DQ = 6 cm and QF =18 cm. Is PQ||EF?

Give reasons for your answer

° Watch Video Solution

9. AABC, is right angles at C. If p is thhe length of the
perpendicular from C to AB and ab,c are the lengths of the sides

opposites LA, /B, /Crespectively then prove that
1 1 1

P2 pER

o Watch Video Solution

10. From airport two aeroplanes start at the same time . If the speed
of first aeroplane due North is 500 km/h and that of other due East

is 650 km/h , then find the distance between two aeroplanes after 2

hours .


https://dl.doubtnut.com/l/_L7WsH2mESIHR
https://dl.doubtnut.com/l/_dJPQqVsxSy6y
https://dl.doubtnut.com/l/_Z7mj3Gl3ZYxq

o Watch Video Solution

1. R and s are points on the sides DE and EF respectively of a
ADEF such that ER=5cm,RD=2.5cm,SE=1.5cm and FS =3.5

cm .Find whether RS||DF or not .

o Watch Video Solution

12. In the figure ,ABCD is a parallelogram and E divides BC in the ratio

1: 3 DB and AE intersect at F. Show that DF = 4FB and AF = 4FE .

D C

m

_.....d

A B

| o Wiak~h \NNAdAA CAliikian



https://dl.doubtnut.com/l/_Z7mj3Gl3ZYxq
https://dl.doubtnut.com/l/_p6Iq7OTzropb
https://dl.doubtnut.com/l/_z7I4OuaJITNS
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13.In fig , if D is mid point of BC, find the value of

A

C D

o Watch Video Solution

Unit lii Coordinate Geometry Coordinate Geometry Long Answer Type

Questions



https://dl.doubtnut.com/l/_z7I4OuaJITNS
https://dl.doubtnut.com/l/_sWIDR8iUVLCG

1.In the given figure, if ZADE = /B, show that AADE-AABC. If
AD = 3.8¢cm, AE = 3.6cm, BE = 2.1cm, and BC = 4.2cm, find

DE.

ts | c

o Watch Video Solution

2. State and prove Converse of Pythagoras Theorem .

| n-.. n 1 we 1l -~ 1 e


https://dl.doubtnut.com/l/_luqF2MQmA6Pz
https://dl.doubtnut.com/l/_PYXSlrGPjLuh

| " vvallll vidco 50Iution ]

3.Theorem 6.1: If a line is drawn parallel to one side of a triangle to
intersect the other two sides in distinct points, the other two sides

are divided in the same ratio.

o Watch Video Solution

4.In AABC, AX 1 BC and Y is middle point of BC. Then prove

that,

BC?
4

AB? = AY? + — BC.XY

o Watch Video Solution

5.In AABC, AX 1L BC and Y is middle point of BC. Then prove

that,

BC?

AC* = AY? + =

+ BC. XY


https://dl.doubtnut.com/l/_PYXSlrGPjLuh
https://dl.doubtnut.com/l/_mgOHAIZLNxCU
https://dl.doubtnut.com/l/_KbLzUIszkIDO
https://dl.doubtnut.com/l/_DFYUcC32ON2G

° Watch Video Solution

6. O is any point inside a rectangle ABCD. Prove that

OB? + OD? = 0A?% + OC2.

° Watch Video Solution

7.1n Figure the line segment XY is parallel to side AC of AABCand it

divides the triangle into two parts of equal areas. Find the ratio

AX
AB’

o Watch Video Solution

8. If AD and PM are medians of triangles ABC and PQR, respectively

AB AD
where AABCAPQR, prove that PO = BN

o Watch Video Solution



https://dl.doubtnut.com/l/_DFYUcC32ON2G
https://dl.doubtnut.com/l/_BtR2QXuuRE39
https://dl.doubtnut.com/l/_jsFuvUWtTjdL
https://dl.doubtnut.com/l/_wDzNQkIFOQ2s

9. The perpendicular drawn from A on sides BC of a AABC
intersects BC at D such that DB = 3CD .Prove that

2AB? = 2AC? + BC2.

o Watch Video Solution

10.In AABC, D, E, F are respectively the mid points of the sides

AB, BC and AC. Find ratio of the area of ADEF and area of AABC.

o Watch Video Solution

11. Prove that the area of an equilateral triangle described on one
side of a square is equal to half the area of the equilateral triangle

described on one of its diagonals.

o Watch Video Solution



https://dl.doubtnut.com/l/_wDzNQkIFOQ2s
https://dl.doubtnut.com/l/_714CFH7iseLv
https://dl.doubtnut.com/l/_BUPKbS2B2dCj
https://dl.doubtnut.com/l/_pp8n04gg0d1Z

Unit Iv Geometry Triangles Multiple Choice Questions

1. The centroid of a triangle formed by (2, p), (g, 7), (3, 1)is(6, 3)

thenp+qis

o Watch Video Solution

2. The two vertices of a triangle are (7,13) and ( — 4, 2) and it's

centroid is (3, 1) , then the third vertex is

o Watch Video Solution

3. If the origin is the midpoint of the line segment joined by the

points (-12,13) and (x,y) , then (xy) is

o Watch Video Solution



https://dl.doubtnut.com/l/_f1VDhYhw5Kej
https://dl.doubtnut.com/l/_L6RPSg3GD2JM
https://dl.doubtnut.com/l/_lWfPyfhwYStU
https://dl.doubtnut.com/l/_NenxqSEUHiah

4.The distance of the point P(2, 3) from the X-axis is

A2
B.3
C.1

D.4

Answer: B

o Watch Video Solution

5.1f the distance of P(xy) from A(2,4) and B( — 3, 1) are equal , then

relation between x and y is.

o Watch Video Solution



https://dl.doubtnut.com/l/_NenxqSEUHiah
https://dl.doubtnut.com/l/_YOsSMnxvLLnH

6. Find the co-ordinates of a point which divide the segment AB in

ratio 1: 4 internally, where A (7, — 8) and B( — 4, 3).

o Watch Video Solution

7.The coordinates of a point A such that (3, — 7) bisects the line AB

internally, where B(2,5) is :

o Watch Video Solution

8. The point which lies on the perpendicular bisector of the line
segment joining the points A(-2,-5) and B (2,5) is

A.(0,0)

B. (0, 2)

c.(2,0)


https://dl.doubtnut.com/l/_SawUtnhFn0WH
https://dl.doubtnut.com/l/_GN91TPt0Z3Fi
https://dl.doubtnut.com/l/_agDcGoZplk7Y

D.(—2,0)

Answer: A

o Watch Video Solution

Unit Iv Geometry Triangles Very Short Answer Type Questions

1. Prove that the points (3, 0), (6, 4) and (-1, 3) are the vertices of a

right angled isosceles triangle.

o Watch Video Solution

2. The x-coordinate of a point P is twice its y-coordinate. If P

equisdtant from Q(2, — 5) and R(3, 6) find the coordinates of P..

o Watch Video Solution



https://dl.doubtnut.com/l/_agDcGoZplk7Y
https://dl.doubtnut.com/l/_2NS83nhESv8V
https://dl.doubtnut.com/l/_00fl7sMAi4US
https://dl.doubtnut.com/l/_SxUSbe0R3VB9

3. Find the ratio in which y-axis divides the line segment joining the

points A(5, — 6) and B( — 1, — 4) and find the point.

° Watch Video Solution

4. Find the coordinates of a point A , here AB is a diameter of the

circle whose centreis (2, — 3) and B(1, 4).

o Watch Video Solution

5. Find the distance between

(a sin 70°, —a sin 20°) and ( —a sin 70°,a sin 20°).

o Watch Video Solution



https://dl.doubtnut.com/l/_SxUSbe0R3VB9
https://dl.doubtnut.com/l/_ieu611oXx8pn
https://dl.doubtnut.com/l/_m6gJaLlbI8q7

6. IfP(%, 4) is the mid-point of the line-segment joining the points

A( —6,5) and B( — 2, 3), then the value of a is

o Watch Video Solution

7. If the point C(3, 7)divides internally the line segment joining the
points A(4,8) and B(a,b) in the ratio 1:3 , find the value of

‘az — b2|.

o Watch Video Solution

8. If the point (z, y) is equidistant from the points (a;, b — a) and

(a —b,a +b),prove that bx = ay

o Watch Video Solution



https://dl.doubtnut.com/l/_sQSjMEzTgM3k
https://dl.doubtnut.com/l/_crZEp0FqQfvR
https://dl.doubtnut.com/l/_jiMO4M1MBsQD

9. Prove that the points (2,-2), (-2, 1) and (5, 2) are the vertices of a

right angled triangle. Also find the area of this triangle.

o Watch Video Solution

10. Find the ratio in which the point ( — 3, p) divides the line
segment joining the points ( — 5, —4) and ( — 2, 3) . Hence, find

the value of p.

o Watch Video Solution

1. . Let P and Q be the points of trisection of the line segment
joining the points A(2, -2) and B(-7, 4) such that P is nearer to A. Find

the coordinates of P and Q.

o Watch Video Solution



https://dl.doubtnut.com/l/_FFIJfHx7kNuP
https://dl.doubtnut.com/l/_oPOhMNgeqwET
https://dl.doubtnut.com/l/_rNm21GiQoBJu
https://dl.doubtnut.com/l/_Dy3RMqjoSTSy

12. Find the coordinates of the points which divide the line segment

joining A(2,\ 2)\ and\ B(2,8) into four equal parts.

o Watch Video Solution

13. In what ratio does the y-axis divide the line segment joining the
point P( — 4, 5) and Q(3, — 7) ? Also, find the coordinates of the

point of intersection.

o Watch Video Solution

14. If the points ( —2, —1), (1, 0), (x, 3) and (1, y) form a

parallelogram, find the values of z and y .

o Watch Video Solution



https://dl.doubtnut.com/l/_Dy3RMqjoSTSy
https://dl.doubtnut.com/l/_nWHs2uUb1cr5
https://dl.doubtnut.com/l/_QRnlDw03qWZB

15. Find a relation between x and y such that the point (x )y) is

equidistant from the points (7, 1) and (3, 5).

o Watch Video Solution

16. M
The figure shows layout of a park . Find the length of wire required

to fence the park ?

o Watch Video Solution



https://dl.doubtnut.com/l/_LXUAWvKJgeIi
https://dl.doubtnut.com/l/_LtdGrypfcYF0

17. In what ratio does the line 2x + y — 4 divides the join of

P(2, —2) and Q(3,7)?

o Watch Video Solution

Unit Iv Geometry Triangles Long Answer Type Questions

1. Show that the points ( —2,5),(3, —4) and (7,10) are the

vertices of the right angled triangle .

o Watch Video Solution

2. Determine the ratio in which the line 3x + y = 9 divides the line

segment joining the points (1, 3) and (2, 7)

o Watch Video Solution



https://dl.doubtnut.com/l/_iJf8rcl2ZiT7
https://dl.doubtnut.com/l/_oyIwMTn7fSlL
https://dl.doubtnut.com/l/_qbnSa2RnwJEf
https://dl.doubtnut.com/l/_Hr5DhX25PuEL

3. Find the coordinates of the point R on the line segment joining

3
the points P( — 1, 3) and Q (2, 5) such that PR = T PQ.

o Watch Video Solution

4. Find the ratio in which the line 2z 4+ 3y — 5 = 0 divides the line
segment joining the points (8,-9) and (2,1). Also find the coordinates

of the points of division.

o Watch Video Solution

Unit Iv Geometry Circles Multiple Choice Questions

1. How many tangents can be drawn froman external point to a circle

A1l


https://dl.doubtnut.com/l/_Hr5DhX25PuEL
https://dl.doubtnut.com/l/_5rusdfqgu6e5
https://dl.doubtnut.com/l/_HMjGBfgdXjFg

B.2

C.3

D.4

Answer: B

o Watch Video Solution

2. If the angle between two radii of a circle is 130° then the angle
between the tangents at the ends of the radii is

A.90

B. 50

C.70

D. 40

Answer: B



https://dl.doubtnut.com/l/_HMjGBfgdXjFg
https://dl.doubtnut.com/l/_MzR2WeB6Xwea

| o Watch Video Solution

3. A point P is 13 xm from the centre of a circle . Radius of the circle is
5 cm . A tangent is drawn from point P to the circle , then the length

of the tangent is :

A.10

C.12

D.13

Answer: C

° Watch Video Solution

4. A tangent PQ at point P of a circle of radius 12 cm meets a line

through the centre O to a point Q so that 0Q =20 cm . Length PQ is :


https://dl.doubtnut.com/l/_MzR2WeB6Xwea
https://dl.doubtnut.com/l/_m4noz4D95uqy
https://dl.doubtnut.com/l/_U3qZu6VWoofJ

A 14

B.15

C.16

D.10

Answer: C

° Watch Video Solution

5. Which of the following pairs of lines in a circle cannot be parallel?

A. Two chords

B. Achord and a tangent

C. Two tangents

D. Two diameters

Answer: D


https://dl.doubtnut.com/l/_U3qZu6VWoofJ
https://dl.doubtnut.com/l/_S9WzuNzC3fEZ

° Watch Video Solution

6. If PA and PB are two tangents to a circle with centre O such that

/APB = 80°,then, ZAOP = ?

A. 40

B.50°

C.60°

D. 70°

Answer: B

o Watch Video Solution

7. The lengths of three consecutive sides of a quadrilateral
circumscribing a circle are 4 cm, 5cm, and 7cm respectively.

Determine the length of the fourth side.


https://dl.doubtnut.com/l/_S9WzuNzC3fEZ
https://dl.doubtnut.com/l/_Ye2s1aNgxwbU
https://dl.doubtnut.com/l/_O0SxwEtIa9db

A.7cm

B.6cm

C.8cm

D.9cm

Answer: B

° Watch Video Solution

8. AB and CD are two common tangents to circles which touch

each other at C . If D lies on AB such that CD =4cm, then AB is

equal to (a) 4cm (b) 6cm (c) 8cm (d) 12cm

A.4 cm

B.6cm

C.8cm

D.12 cm


https://dl.doubtnut.com/l/_O0SxwEtIa9db
https://dl.doubtnut.com/l/_oeEnZ1dUW8VO

Answer: B

° Watch Video Solution

9. Prove that the parallelogram circumscribing a circle is a rhombus.

A. Rhombus

B. Square

C. Rectangle

D. Trapezium

Answer: C

o Watch Video Solution

10. Find the distance between two parallel tangents of a circle whose

radius is 3.5 cm .


https://dl.doubtnut.com/l/_oeEnZ1dUW8VO
https://dl.doubtnut.com/l/_zagjPIBDbpHr
https://dl.doubtnut.com/l/_NsiEXvci0mxI

A.7cm

B. 3.5cm

C.10 cm

D. cannot be determined

Answer: A

° Watch Video Solution

1. In Figure 2, AB and AC are tangents to the circle with centre O

such that angle BAC = 40°. Then angle BOC is equal to

A.100°

B. 140°

C.50°

D.70°


https://dl.doubtnut.com/l/_NsiEXvci0mxI
https://dl.doubtnut.com/l/_jNvOne0zGSOL

Answer: A

° Watch Video Solution

12. Two circles of diameters 10 cm and 6 cm have the same centre. A
chord of the larger circle is a tangent of the smaller one. The length
of the chord is

A.8 cm

B.16 cm

C.20cm

D.10 cm

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_jNvOne0zGSOL
https://dl.doubtnut.com/l/_feoRHGCZ5iYW

13. The length of tangent drawn to a circle with radius 7 cm from a

point 25 cm away the centre , is

A. 24 cm

B.27 cm

C.26cm

D.25cm

Answer: B

o Watch Video Solution

Unit Iv Geometry Circles Very Short Answer Type Questions

1. In Fig AP and BP are tangents to a circle with centre O, such that

AP=5cm,and ZAPB = 60° .Find the length of chord AB.


https://dl.doubtnut.com/l/_TpAtfTdvUeUm
https://dl.doubtnut.com/l/_U2jgDfVgPLD4

o Watch Video Solution

2. In Fig. 10.21, two circles touch each other at the point C' . Prove
that the common tangent to the circles at C', bisects the common

tangent at P and @ . (FIGURE)

o Watch Video Solution



https://dl.doubtnut.com/l/_U2jgDfVgPLD4
https://dl.doubtnut.com/l/_hwLixn5QnMo0

3. A tangent PQ at a point P of a circle of radius 5cm meets a line
through the centre O at a point @ so that OQ = 13c¢m. Find the

length of PQ.

o Watch Video Solution

4. Two concentric circles of radii @ and b(a > b) are given. Find the
length of the chord of the larger circle which touches the smaller

circle.

o Watch Video Solution

5. In two concentric circles, a chord of length 24cm of larger circle
becomes a tangent to the smaller circle whose radius is 5cm. Find

the radius of the larger circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_6pUKifgwyqFa
https://dl.doubtnut.com/l/_uQaIcyJnTMUv
https://dl.doubtnut.com/l/_WaEOFqFBrQgT

6.1f ABC is isosceles with AB = AC and C(O, r) is the incircle of

the ABC touching BC at L, prove that L bisects BC'.

o Watch Video Solution

Unit Iv Geometry Circles Short Answer Type Questions

1. In Fig.2, a quadrilateral ABCD is drawn to circumscribe a circle, with
centre O, in such a way that the sides AB, BC, CD and DA touch the
circle at the points P, Q, R and S respectively. Prove that AB + CD = BC

+ DA.

o Watch Video Solution

2.In the given figure, a circle inscribed in a triangle ABC touches the

sides AB, BC and CA at points D, E and F respectively. If AB = 14 cm, BC


https://dl.doubtnut.com/l/_WaEOFqFBrQgT
https://dl.doubtnut.com/l/_wa7VnzIBtX33
https://dl.doubtnut.com/l/_dp4iXFJnXWAG
https://dl.doubtnut.com/l/_gdEbpmFrLUIm

=8 cm and CA =12 cm. Find the lengths AD, BE and CF.

o Watch Video Solution

3. If Fig , AOB is diameter of a circle with centre O and AC is a

tangent to the circle at A. If ZBOC = 130° , then find ZACO.
A

1307

° Watch Video Solution

4.In figure PQ is a tangent at a point C to a circle with centre O. If AB

is a diameter and ZCAB = 30°, find ZPCA


https://dl.doubtnut.com/l/_gdEbpmFrLUIm
https://dl.doubtnut.com/l/_7hrdggsIi7uE
https://dl.doubtnut.com/l/_dY0vK0JNjMFs

o Watch Video Solution

5. From the external point P tangents PA and PB are drawn to a circle

with centre O.If /ZPAB = 50°, then find ZAOB.

o Watch Video Solution

6. From an external point P, two tangents PT and PS are drawn to a

circle with centre O and radius r. if OP=2r, show that

0TS = Z08T = 30°


https://dl.doubtnut.com/l/_dY0vK0JNjMFs
https://dl.doubtnut.com/l/_LTOA9ZayADnf
https://dl.doubtnut.com/l/_RrDUq8Bg4HTc

o Watch Video Solution

7.The incircle of an isosceles triangle ABC, in which AB = AC, touches
the sides BC, CA and AB at D, E and F respectively . Prove that BD =

DC.

D

° Watch Video Solution



https://dl.doubtnut.com/l/_RrDUq8Bg4HTc
https://dl.doubtnut.com/l/_i9g0SbuwGTqu

8. Prove that the tangent at any point of circle is perpendicular to

the radius through the point of contact.

o Watch Video Solution

9. A circle is inscribed in the quadrilateral ABCD. Given BC= 38 cm .
BQ=27 cm , CD = 25 cm and ZADC = 90° find the radius of the

circle .

o Watch Video Solution



https://dl.doubtnut.com/l/_09Eh3Ha7S8Fq
https://dl.doubtnut.com/l/_3sFzB0W6Mj4j

10. Find the value of x.

.6

o Watch Video Solution

1.In Fig , AB is a chord of a circle , with centre O, such that AB =16

cm and radius of circle is 10 cm. Tangents at A and B intersect each


https://dl.doubtnut.com/l/_q9iZycRAS7B6
https://dl.doubtnut.com/l/_AZNFaQDp7KNW

other at P. Find the length of PA.

A

o Watch Video Solution

12. Prove that the length of the tangents drawn from an external

point to a circle are equal.

° Watch Video Solution

13. In Fig , are two concentric circles of radii 6 cm and 4 cm with

centre O . If AP is a tangent to the larger circle and BP to the smaller


https://dl.doubtnut.com/l/_AZNFaQDp7KNW
https://dl.doubtnut.com/l/_3DZjz05w7dGs
https://dl.doubtnut.com/l/_w42dKHurSPZq

circle and length of AP is 8 cm, find the length of BP.

o Watch Video Solution

14. From a point P, two tangents PT and PS are drawn to a circle with

center O.Such that Z/SPT = 120°. Prove that OP=2PS.

o Watch Video Solution

15. In Figure, a quadrilateral ABCD is drawn to circumscribe a circle .

Prove that


https://dl.doubtnut.com/l/_w42dKHurSPZq
https://dl.doubtnut.com/l/_j9P6smEWocpv
https://dl.doubtnut.com/l/_ivjYtOZg5Axj

AB+CD = BC+ AD
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o Watch Video Solution

16.1n fig , a circle isinscribed in a triangle PQR with PQ =10 cm, QR =

8 cm and PR =12 cm Find the length of the QM , RN and PL.


https://dl.doubtnut.com/l/_ivjYtOZg5Axj
https://dl.doubtnut.com/l/_6DIL0av5ombE

o Watch Video Solution

17.1n the given figure the sides AB, BE and CA of triangle ABC touch a
circle with centre O and radius r at P,Q and R respectively.
Prove that: (i)AB + CQ = AC + BQ

1
(ii) Area ( A ABC) = — (Perimeter of A ABC) x 7

2
-0

Watch Video Solution


https://dl.doubtnut.com/l/_6DIL0av5ombE
https://dl.doubtnut.com/l/_AmVXmzrcZtuJ

18.In figure, a triangle ABC is drawn to circumscribe a circle of radius 3
cm , such that segments BD and DC are of length 6 cm and 9 cm .If the
area of A ABC = 54cm?, then find the lengths of the side AB and

AC.

o Watch Video Solution

19. A triangle ABC is drawn to circumscribe a circle of radius 4 cm such

that the segments BD and DC into which BC is divided by the point of


https://dl.doubtnut.com/l/_AmVXmzrcZtuJ
https://dl.doubtnut.com/l/_9imC9e4gKeNV
https://dl.doubtnut.com/l/_b50p30qP9Ugq

contact D are of lengths 8 cm and 6 cm respectively. Find the sides AB

and AC.

o Watch Video Solution

20.In Fig XY and X'Y' are two parallel tangents to a circle with centre O
and another tangent AB with point of contact C intersecting XY and

X'Y' at B, prove that ZAOB = 90°

o Watch Video Solution



https://dl.doubtnut.com/l/_b50p30qP9Ugq
https://dl.doubtnut.com/l/_XUMroH9R5Sjk

21. Two tangents T'P and T'Q) are drawn to a circle with centre O from

an external point T'. Prove that ZPTQ = 2/0PQ .

o Watch Video Solution

22. A circle touches the side BC of AABC at P and touches AB and AC
produced at Q and R respectively. Prove that AQ=1/2(Perimeter of

AABC).

o Watch Video Solution

Unit Ilv Geometry Constructions Very Short Answer Type Questions

1. In the given figure PA and PB are tangents to the circle drawn from

an external point P. CD is a third tangent touching the circle at Q. If


https://dl.doubtnut.com/l/_Q4hkgSUlXXxj
https://dl.doubtnut.com/l/_QLZaJIlwNj2U
https://dl.doubtnut.com/l/_DECJMo2Qn6TM

PB=10cm and CQ=2cm. What is the length of PC?

o Watch Video Solution

2.In the given figure , if TP and TQ are the two tangents to a circle with

centre O so that ZPOQ = 110° ,then Z/PTQ is equal to


https://dl.doubtnut.com/l/_DECJMo2Qn6TM
https://dl.doubtnut.com/l/_e2H4Qe5PwSUf

110°

o Watch Video Solution

Unit Ilv Geometry Constructions Long Answer Type Questions

1. Draw two concentric circles of radii 3 cm and 5 cm . Construct a

tangent to smaller circle from a point on the larger circle . Also


https://dl.doubtnut.com/l/_e2H4Qe5PwSUf
https://dl.doubtnut.com/l/_3XLRNMgVbW0p

measure its length.

° Watch Video Solution

2. Let ABC be a right triangle in which AB = 6 cm, BC = 8 cm and
/B = 90° .BD is the= perpendicular from B on AC. The circle through

B, C, D is drawn. Construct the tangents from A to this circle.

o Watch Video Solution

3. Draw a circle of radius 4.8 cm .Take a point P on it . Without using
the centre of the circle , construct a tangent at the point P. Write the

steps of construction .

o Watch Video Solution



https://dl.doubtnut.com/l/_3XLRNMgVbW0p
https://dl.doubtnut.com/l/_URMq24F41ifX
https://dl.doubtnut.com/l/_tdhbqAGHwK9v

4. Draw a circle of radius 4 cm . Draw a tangent to the circle , making an

angle of 60° with a line passing through the centre .

o Watch Video Solution

5. Construct a tangent to a circle of radius 4 cm from a point on the
concentric circle of radius 6 cm and measure its length. Also verify the

measurement by actual calculation

o Watch Video Solution

6. Draw a circle of radius 3 cm . Draw a tangent to the circle making an

angle of 30° with a line passing through the centre .

o Watch Video Solution



https://dl.doubtnut.com/l/_CG04kX6CH1V2
https://dl.doubtnut.com/l/_H8fGW3kb8HdG
https://dl.doubtnut.com/l/_3Shgh0nbdCUY

7. Draw a circle of radius 4.2 cm .Draw a pair of tangents to this circle

inclined to each other at an angle of 45° .

o Watch Video Solution

8. Draw a line segment AB of length 8 cm. Taking A as centre, draw a
circle of radius 4 cm and taking B as centre, draw another circle of
radius 3 cm. Construct tangents to each circle from the centre of the

other circle.

° Watch Video Solution

9. Draw a circle with the help of a bangle. Take a point outside the

circle. Construct the pair of tangents from this point to the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_MGMfkH60q5PU
https://dl.doubtnut.com/l/_BYsi2h6mS2lE
https://dl.doubtnut.com/l/_I7eZqHWEkCDi
https://dl.doubtnut.com/l/_WiWEn2RhwcA8

10. Draw a circle with centre O and radius 4 cm . Draw any diameter AB
of this circle . Construct tangents to the circle at each of the two end

points of the diameter AB.

° Watch Video Solution

11. Draw a circle of radius 3 cm. Take two points P and Q on one of its
extended diameter each at a distance of 7 cm from its centre. Draw

tangents to the circle from these two points P and Q.

° Watch Video Solution

12. Draw a circle of radius 3 cm. Take two points P and Q on one of its
extended diameter each at a distance of 7 cm from its centre. Draw

tangents to the circle from these two points P and Q.

° Watch Video Solution



https://dl.doubtnut.com/l/_WiWEn2RhwcA8
https://dl.doubtnut.com/l/_hBP914AGrJkF
https://dl.doubtnut.com/l/_D64RHyretiKi

13. Draw a line segment of length 7.6 cm and divide it in the ratio 5 : 8.

Measure the two parts.

° Watch Video Solution

14. Draw a line segment of length 8 cm and divides it in the ratio 2: 3

o Watch Video Solution

15. Draw two tangents to a circle of radius 3.5 cm from a point P at a

distance of 6.2 cm from its centre .

o Watch Video Solution

16. Draw a line segment AB of length 7 cm . Using ruler and compasses ,

find a point P on AB such that AP:PB: : 3:2 and


https://dl.doubtnut.com/l/_uGsWzZeEUpmG
https://dl.doubtnut.com/l/_Y3sse0tdp2EP
https://dl.doubtnut.com/l/_Y4OunSQBbmMC
https://dl.doubtnut.com/l/_TIkDeUpWCY7u

AP:AB: :3:5

o Watch Video Solution

Unit V Trigonometry Introduction To Trigonometry Multiple Choice

Questions

1
LIfsixx = 3 ,find the value of cot? z.

Al
B.2
C.3

D.8

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_TIkDeUpWCY7u
https://dl.doubtnut.com/l/_PgmsdlWF5meR
https://dl.doubtnut.com/l/_YpW6YCPr40Za

2.1fcos A + cos®? A = 1, find the value of sin? A + sin* A.

A.O

B. 1

D.2

Answer: B

o Watch Video Solution

3 1+ tan? A
) 1+ cot?2 A

is equal to sec® A (b) —1(c) cot® A (d) tan® A
A —1
B.sec’ A

C.1

D.tan? A


https://dl.doubtnut.com/l/_YpW6YCPr40Za
https://dl.doubtnut.com/l/_vVNZXbU3g66S

Answer: D

o Watch Video Solution

4. Evaluate each of the following :

2c0s260° + 3sin®45° — 3sin®30° + 2cos? 90°

A1l

B.5

NG N S

Answer: C

o Watch Video Solution

Unit V Trigonometry Introduction To Trigonometry Very Short Answer

Type Questions


https://dl.doubtnut.com/l/_vVNZXbU3g66S
https://dl.doubtnut.com/l/_U2HccseWd5VP

1. If (cosech + cot 8) = z find cosecd — cot 6.

o Watch Video Solution

3
2.1f (1 +cosA)(1—cosA) = 1 , find the value of sec A.

o Watch Video Solution

1 1
3. If sin(4A — B) = 3 and cos(A + B) = 3 0° < (A+ B) <90°

and A > B then find A and B.

o Watch Video Solution

4.1f /3sinz —cosz = 0 and 0 < = < 90, find the value of x..

o Watch Video Solution



https://dl.doubtnut.com/l/_tZNnkZ0hwep6
https://dl.doubtnut.com/l/_UvR0CRrsxLuF
https://dl.doubtnut.com/l/_OGoOCml3pEoq
https://dl.doubtnut.com/l/_lSaH6ru2l2cL

5.1f sin x=a and sec x=b , find the value of cot x.

o Watch Video Solution

6.1f 2cos @ = 1, find the value of 20

o Watch Video Solution

7.Find the value of cot? A — cosec’A.

o Watch Video Solution

1
8. What is the maximum value ——— can take ?
cosec

o Watch Video Solution



https://dl.doubtnut.com/l/_lSaH6ru2l2cL
https://dl.doubtnut.com/l/_18vZYEPy9Vhb
https://dl.doubtnut.com/l/_vbkiVuBsShit
https://dl.doubtnut.com/l/_x5Mj6v0u1iYc
https://dl.doubtnut.com/l/_6R52vpOaYoxJ
https://dl.doubtnut.com/l/_X11NwauGM9Fq

5
9.Given tana = 5 , find other trigonometric ratios

o Watch Video Solution

10. Write the values of sec0°, sec30°, sec45°, sec60° and sec90° .

What happens to sec x when x increases from 0°to 90° ?

o Watch Video Solution

M.1f cos @ — sinf = /2sin#, then prove that:

cos§ + sinf = /2 cos 6

o Watch Video Solution

5 2
12.If 5z = sec@ and P tan@, find the value of 5 z* — — ).

o Watch Video Solution



https://dl.doubtnut.com/l/_X11NwauGM9Fq
https://dl.doubtnut.com/l/_vKSvT11b7ljX
https://dl.doubtnut.com/l/_7EIHbMAmDOpf
https://dl.doubtnut.com/l/_Ixnj2hqOfeip

1
13.1f sinz = — then find the value of (2 cot’ z + 2) .

o Watch Video Solution

14. Evaluate : 5cos® 30 + 4sec? 30 — tan? 45.

o Watch Video Solution

15. Evaluate : 2tan® 60° + cos® 30° + sin® 60 .

o Watch Video Solution

Unit V Trigonometry Introduction To Trigonometry Long Answer Type

Questions



https://dl.doubtnut.com/l/_Ixnj2hqOfeip
https://dl.doubtnut.com/l/_12p3g1VrxQys
https://dl.doubtnut.com/l/_hy2DnCzAhYTz
https://dl.doubtnut.com/l/_BL4HnXGr5jZ9

tan® 0 cot3 0
1. Prove that : + = secfcosec 6 — 2sinf cos 0.

1+ tan26 1+ cot?6

° Watch Video Solution

1

1
2.ifsec A = x + — then prove that sec A 4+ tan A = 2z, —
4z 2z

o Watch Video Solution

1

3.If sin(A + B) = land tan(A — B) = —,0° < A, B < 90°, find
V3

the value of :

tan A + cot B

o Watch Video Solution

1
4.ifsin(A + B) = 1and tan(A — B) = %,OO < A,B < 90°, find

the value of :


https://dl.doubtnut.com/l/_d1Fi9uHJD6hP
https://dl.doubtnut.com/l/_LXDrGLSvIxVq
https://dl.doubtnut.com/l/_oKXC4H02KfKN
https://dl.doubtnut.com/l/_ZE5WlMef79IG

sec A — cosec B

o Watch Video Solution

5. 1f sin 0 12 & 4 the vl ; sin? 0 — cos? 0 1
. = —, - X
St 13 nd the vaiue o 2sin 6 cos 6 tanZ @
o Watch Video Solution
6. Show that 1 1 1
. Show that : — =
secA —tan A cos A cos A secA +tan A

° Watch Video Solution

sin®§ — 2sin*f

7.sec’ 0 — =
2cos? @ — cos? 6

o Watch Video Solution



https://dl.doubtnut.com/l/_ZE5WlMef79IG
https://dl.doubtnut.com/l/_2hifM7ZN2OKU
https://dl.doubtnut.com/l/_Mk8EFUtTwGt8
https://dl.doubtnut.com/l/_6CW1felXFPZI

8.1f secl + tan6 = p, then find the value of cos ecf.

o Watch Video Solution

9. Prove that: (sinH — 2sin® 0) = (2 cos® @ — cos H)ta,n 0.

o Watch Video Solution

Unit V Trigonometry Heights And Distances Multiple Choice Questions

1. A radar detect an aeroplane in the sky at an altitude of 5 km, at an
angle of elevation of 45 ..

Find the distance of the aeroplane from the radar .

A.5¢/2

B. 4 km


https://dl.doubtnut.com/l/_RMUtTLFgNjBB
https://dl.doubtnut.com/l/_3UsCrzPwloQH
https://dl.doubtnut.com/l/_mNOLsJBZxEWG

C.5km

D. 6 km

Answer: A

o Watch Video Solution

2. A kite is flying at an angle of elevation of 60, the kite is tied with a
string of 60 m . Find the height of the kite .

A.30m

B.40m

C.30/3m

D.40,/3 m

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mNOLsJBZxEWG
https://dl.doubtnut.com/l/_KeJ9im0mUpNk

3. A pole cast a shadow of length 20 m on thhe ground , when the sun's
elevation is 60° .Find the height of pole .

A.30m

B.40m

C.50m

D. 20,/3m

Answer: D

o Watch Video Solution

Unit V Trigonometry Heights And Distances Very Short Answer Type

Questions



https://dl.doubtnut.com/l/_KeJ9im0mUpNk
https://dl.doubtnut.com/l/_AHPpRfK1FHUI

1. An observer, 1.7 m tall , is 20\/3 m away from a tower . The angle of
elevation from the eye of observer to the top of tower is 30° . Find the

height of tower .

° Watch Video Solution

2. A ladder leaning against a wall makes an angle of 60° with the
horizontal. If the foot of the ladder is 2.5 m away from the wall, find the

length of the ladder.

o Watch Video Solution

3.In fig AB is a 6m high pole and CD is a ladder inclined at an angle of

60° to the horizontal and reaches up to a point D of pole. If AD=2.54m,


https://dl.doubtnut.com/l/_fqvOgqxOV4rQ
https://dl.doubtnut.com/l/_Bfyz3i4FMIAI
https://dl.doubtnut.com/l/_1ZinaL5HVEQ8

find the length of the ladder. (use /3 = 1.73)

-,

a0

o Watch Video Solution



https://dl.doubtnut.com/l/_1ZinaL5HVEQ8

4. In triangle ABC, right angled at B, AC = 20 m, ZC' = 45°, find the

value of AB.

o Watch Video Solution

5. In the following figure, a tower AB is 20 m high and BC, its shadow

on the ground, is 20 3 m long. Find the Sun’s altitude.

o Watch Video Solution

6. As a plane moves away from a viewer what happens to the elevation
of the plane as observed from the same observation point ? Increases

or decreases ?

o Watch Video Solution



https://dl.doubtnut.com/l/_nW6IYkwDwWVV
https://dl.doubtnut.com/l/_u1Q9gIoynmsE
https://dl.doubtnut.com/l/_Y64pMPIh6My7

7. From the foot of a building the elevation of the top of a tower is 45°
and from the foot of the twoer the elevation of the top of the building

is 60° . Which of the two is shorter ?

° Watch Video Solution

8.The angle of elevation of the top of a tower from the top of a rock is

30° Which is taller the rock or the tower ?

o Watch Video Solution

9. The shadow of a tower at a particular time of the day is equal to its

height , what is the levation of the source of light ?

o Watch Video Solution



https://dl.doubtnut.com/l/_uJQYR8xyHd5J
https://dl.doubtnut.com/l/_gkqnUwBrdfLG
https://dl.doubtnut.com/l/_cbBPr0Ka0ODU

10. When the line of sight is below the horizontal level the angle

formed is called .

o Watch Video Solution

11. When a viewer looks at an object which is above his horizontal line
of sight , his eyes turn through an angle , the angle through which his

eyes turn is the angle of ....... (fill in the blank)

o Watch Video Solution

12. The angle elevation of the top of a tower from a point C on the

ground. Which is 30 m away from the foot of the tower is 30° . Find


https://dl.doubtnut.com/l/_K5Y1FRa8cl0h
https://dl.doubtnut.com/l/_HZTdATzC4pkB
https://dl.doubtnut.com/l/_Up4LbrChDT7F

the height of the tower.

C
H JO0m o

o Watch Video Solution

13. What is the angle of elevation of the Sun when the length of the

shadow of a vertical pole is equal to its height?

o Watch Video Solution

Unit V Trigonometry Heights And Distances Short Answer Type Questions



https://dl.doubtnut.com/l/_Up4LbrChDT7F
https://dl.doubtnut.com/l/_FJH6tqjYkCb9
https://dl.doubtnut.com/l/_iOBkreHAlK6P

1. An aeroplane when flying at a height of 4000m from the ground
passes vertically above another aeroplane at an instant when the
angles of the elevation of the two planes from the same point on the
ground are 60°&45" respectively. Find the vertical distance between

the aeroplanes at that instant.

o Watch Video Solution

2. A vertical tower stands on a horizontal plane and is surmounted by a
flagstaff of height 5m. From a point on the ground the angles of
elevation of the top and bottom of the flagstaff are 60° and 30°
respectively. Find the height of the tower and the distance of the point

from the tower. (Take \/ﬁ = 1.732)

o Watch Video Solution



https://dl.doubtnut.com/l/_iOBkreHAlK6P
https://dl.doubtnut.com/l/_UhvF91QW6MpT

3. Two men on either sideof a 75 m high building and in line with base
of buildig observe the angle of elevation of the top of the building as

30° and 60°. Find the distance between the two men. (Use /3 = 1.73)

° Watch Video Solution

4. A man standing on the deck of a ship, which is 10 m above water
level, observes the angle of elevation of the top of a hill as 60° and the
angle of depression the base of hill as 30°. Find the distance of the hill

from the ship and the height of the hill.

O Watch Video Solution

5. The angles of depression of the top and bottom of a 50 m high
buiding from the top of a tower are 45° and 60° respectively . Find

the height of the tower.

s ]


https://dl.doubtnut.com/l/_tx6fiK4SwH8y
https://dl.doubtnut.com/l/_bFosXhuzwPad
https://dl.doubtnut.com/l/_73S28urEzmYA

| ¥ Vvatch video Solution |

6.0n a horizontal plane there is a vertical tower with a flag pole on the
top of the tower. At a point 9 metres away from the foot of the tower
the angle of elevation of the top and bottom of the flag pole are
60°and30° respectively. Find the height of the tower and the flag pole

mounted on it.

o Watch Video Solution

7. A man standing on the deck of a ship, which is 10 m above water
level, observes the angle of elevation of the top of a hill as 60° and the
angle of depression the base of hill as 30°. Find the distance of the hill

from the ship and the height of the hill.

o Watch Video Solution



https://dl.doubtnut.com/l/_73S28urEzmYA
https://dl.doubtnut.com/l/_qNTFvIdzx38H
https://dl.doubtnut.com/l/_ov6dHH4pQEak

8.Due to a storm the upper part of a tall tree broke and got bent .It's
top struck the ground at a distance of 8 m from its base making an

angle of 30 degrees with the ground .What was the height of the tree ?

° Watch Video Solution

Unit V Trigonometry Heights And Distances Long Answer Type Questions

1. The angles of elevation of the top of a tower from two points at a
distance of 4 m and 9 m from the base of the tower and in the same
straight line with it are 60° and 30° respectively . Find the height of

the tower .

o Watch Video Solution



https://dl.doubtnut.com/l/_0MS0KQvV2KAG
https://dl.doubtnut.com/l/_xwCjPKdx9iOx

2. A bird is sitting on the top of a 80 m high tree. From a point on the
ground, the angle of elevation of the bird is 45°. The bird flies away
horizontally in such a way that it remained at a constant height from
the ground. After 2 secounds, the angle of elevation of the bird from
the same point is 30°. Find the speed of flying of the bird. (Take

V3 = 1.732).

o Watch Video Solution

3. Two poles of equal heights are standing opposite to each other on
either side of the road , which is 100 m wide . From a point between
them on the road , the angles of elevation of the top of the poles are

60° and 30° respectively .Find the height of the poles .

o Watch Video Solution



https://dl.doubtnut.com/l/_rVfXVRIiDi1B
https://dl.doubtnut.com/l/_vUSJYPsNJcyN

4. From the top of a 7 m high building, the angle of elevation of the
top of a tower is 60° and the angle of depression of the foot of the

tower is 30°. Find the height of the tower.

O Watch Video Solution

5. A vertical tower stand on a horizontal plane and is surmounted by a
vertical flag-staff of height 5 metres. At a point on the plane, the angles
of elevation of the bottom and the top of the flag-staff are respectively

30°and60°. Find the height of the tower.

o Watch Video Solution

6. The shadow of a tower standing on a level ground is found to be 20
m longer when the sun's altitude is 45° than when it is 60° .Find the

height of the tower .

S ]


https://dl.doubtnut.com/l/_eeEjB63kHZKx
https://dl.doubtnut.com/l/_oBgzSEIrLh24
https://dl.doubtnut.com/l/_PWkmGdAHeyut

| @ VWvatch video Solution |

7. The angle of elevation of a stationary cloud from a point 200 m
above the lake is 30° and the angle of depression of its reflection in

the lake is found to be 60° . Find the height of the cloud .

o Watch Video Solution

8. A man standing on the deck of a ship, which is 10m above water level.
He observes the angle of elevation of the top of a hill as 60° and the
angle of depression of the base of the hill as 30°. Calculate the

distance of the hill from the ship and the height of the hill.

o Watch Video Solution

9. A kite is flying at a height of 30m from the ground. The length of

string from the kite to the ground is 60m. Assuming that three is no


https://dl.doubtnut.com/l/_PWkmGdAHeyut
https://dl.doubtnut.com/l/_xoZ7BeAAUy7g
https://dl.doubtnut.com/l/_zja1wftAb5K3
https://dl.doubtnut.com/l/_89aijNE2gwFe

slack in the string, the angle of elevation of the kite at the ground is:

45° (b) 30° (c) 60° (d) 90°

° Watch Video Solution

10. The angle of elevation of a fighter from point A on the ground is
60° After a flight of 15 seconds the angle of elevation changes to 30°.If
the jet is fighting at a speed of 720km/hour. Find the constant height

at which the jet is flying.

o Watch Video Solution

Unit Vi Area Related To Circle Areas Related To Circles Multiple Choice

Questions

1. The diameter of a circle whose area is equal to the sum of the areas

of the two circles of radii 24 cm and 7 cm is


https://dl.doubtnut.com/l/_89aijNE2gwFe
https://dl.doubtnut.com/l/_plb4PMo2IXE7
https://dl.doubtnut.com/l/_QlTU37GqGxAq

A.31cm

B.25 cm

C.62cm

D.50 cm

Answer: D

o Watch Video Solution

. . .7 . .
2.The radius of a circle is T cm,then the area of the circle is .
T

A. 154cm?

49 9
B.—cm
T

C. 22cm?>

D. 49¢m?

Answer: D


https://dl.doubtnut.com/l/_QlTU37GqGxAq
https://dl.doubtnut.com/l/_cSYqTAhNJTv3

o Watch Video Solution

3. If the perimeter of a circle is equal to that of a square, then the ratio

of their areas is

A22:7

B.14:11

C.7:22

D.11:14

Answer: B

o Watch Video Solution

4. The circumference of circle is 154 m, then radius is

A.7m


https://dl.doubtnut.com/l/_cSYqTAhNJTv3
https://dl.doubtnut.com/l/_4GnbGp0V7DMQ
https://dl.doubtnut.com/l/_nwcxJBKyBapf

B.14 m

C.7.5

D. None of these

Answer: D

° Watch Video Solution

5. If the sum of the circumferences of two circles with radii R; and R,

is equal to the circumference of a circle of radius R, then

AR1I+R2=R

B.R1+ R2 > 2

CRI+R2<R

D. None of the above

Answer: A



https://dl.doubtnut.com/l/_nwcxJBKyBapf
https://dl.doubtnut.com/l/_S44kODIHV1ED

| ° Watch Video Solution

6. The circumference of a circular field is 528 cm . Then its radius is

A.42 cm

B.84 cm

C.72cm

D.56 cm

Answer: B

o Watch Video Solution

7. The area of incircle of an equilateral triangle is 154 cm? . The
perimeter of the triangle is (a) 71.5 cm (b) 71.7 cm (c) 72.3 cm (d) 72.7

cm


https://dl.doubtnut.com/l/_S44kODIHV1ED
https://dl.doubtnut.com/l/_2aycZsEPlxj7
https://dl.doubtnut.com/l/_ijv5TXRFHDaL

A.71.5cm

B.71.7 cm

C.72.3cm

D.72.6 cm

Answer: D

o Watch Video Solution

8. The radius of a bicycle wheel is 14 cm . The distance covered by the

wheel after making 50 complete rotation is

A.88 cm

B.2200 cm

C.440 cm

D. 4400 cm


https://dl.doubtnut.com/l/_ijv5TXRFHDaL
https://dl.doubtnut.com/l/_Jd8xEFwnhq3X

Answer: D

o Watch Video Solution

Unit Vi Area Related To Circle Areas Related To Circles Very Short Answer

Type Questions

1. The circumference of a circle is equal to sum of circumference of 2
circles having diameter 34 cm and 28 cm . Find the radius of the new

circle .

o Watch Video Solution

2. A racetrack is in the form of a ring whose inner and outer
circumferences are 437m and 503 m respectively. Find the width of the

track and also its area.

o Watch Video Solution



https://dl.doubtnut.com/l/_Jd8xEFwnhq3X
https://dl.doubtnut.com/l/_JcsMLmW5XKee
https://dl.doubtnut.com/l/_0618wiY1W1EL

3. Find the radius of the circle whose area is numerically equal to three

times its circumference .

° Watch Video Solution

4. Find the perimeter of a protractor having length of its base as 14 cm

o Watch Video Solution

Unit Vi Area Related To Circle Areas Related To Circles Short Answer Type

Questions

1. The area of an equilateral triangle is 1732. 05 ecm? . About each

angular point as centre, a circle is described with radius equal to half


https://dl.doubtnut.com/l/_0618wiY1W1EL
https://dl.doubtnut.com/l/_4OrLtpXFEtWH
https://dl.doubtnut.com/l/_3a2MtoEChB1O
https://dl.doubtnut.com/l/_VXNPW4XntAn1

the length of the side of the triangle. Find the area of the triangle not

included in the circles. (Use m = 3. 14) .

o Watch Video Solution

2. Fig. 12.26 depicts a racing track whose left and right ends are
semicircular. The distance between the two inner parallel line
segments is 60 m and they are each 106 m long. If the track is 10 m

wide, find : (i) the distance around the track alon

o Watch Video Solution

3. Fig. 12.26 depicts a racing track whose left and right ends are
semicircular. The distance between the two inner parallel line
segments is 60 m and they are each 106 m long. If the track is 10 m

wide, find : (i) the distance around the track alon

o Watch Video Solution



https://dl.doubtnut.com/l/_VXNPW4XntAn1
https://dl.doubtnut.com/l/_wqRFKTbhKAYT
https://dl.doubtnut.com/l/_jAzE5LawGGMy

4. On a square handkerchief, nine circular designs each of radius 7 cm

are made. Find the area of the remaining portion of the handdkerchief

° Watch Video Solution

5.In figure , AB and CD are two diameters of a circle ( with centre O)

perpendicular to each other and OD is the diameter of the smaller


https://dl.doubtnut.com/l/_jAzE5LawGGMy
https://dl.doubtnut.com/l/_KCViwu08WVaY
https://dl.doubtnut.com/l/_SK6YbFUOMHzq

circle . If OA=7 cm, find the area of the shaded region.

o Watch Video Solution

6. If the perimeter and the area of a circle are numerically equal, then

the radius of the circle is.

A. 2 units

B. 7 units


https://dl.doubtnut.com/l/_SK6YbFUOMHzq
https://dl.doubtnut.com/l/_pbjshnpCF0kK

C. 4 units

D. 7 units

Answer:

o Watch Video Solution

7. The radii of two circles are 3cm and 4 cm respectively . Find the
radius of the circle having area equal to the sum of the areas of the

two circles .

o Watch Video Solution

8. In the figure, ABCD is a square of side 14 cm. Semi-circles are drawn

with each side of square as diameter. Find the area of the shaded


https://dl.doubtnut.com/l/_pbjshnpCF0kK
https://dl.doubtnut.com/l/_qZLerBBSzxMr
https://dl.doubtnut.com/l/_R9INA9CYTj5c

region

A
)

Z

I\
D ..-////ﬂ'f.r.. ﬁ

f
o Video Solution



https://dl.doubtnut.com/l/_R9INA9CYTj5c

9.In figure, find the area of the shaded region

— o —e

o Watch Video Solution

10. In figure , O is the centre of a circle such that diameter AB= 13 cm

and AC =12 cm . BC is joined .find the area of the shaded region .


https://dl.doubtnut.com/l/_RoxdUMTXxURJ
https://dl.doubtnut.com/l/_DRsT0zw6aGDB

o Watch Video Solution

M. In the given figure ABCD is a trapezium in which
AB | | DC, AB = 18cm, DC = 32cm and the distance between AB

and DC is 14 cm. If arcs of equal radii 7 cm hav been drawn with centres


https://dl.doubtnut.com/l/_DRsT0zw6aGDB
https://dl.doubtnut.com/l/_7rr6SRUKO3FU

A,B,C and D then find the area of the shaded region.

A B

D C

o Watch Video Solution

12. The hour and minute hands of a clock are 4 cm and 6 cm long
respectively. Find the sum of the distances travelled by their tips in 2

days.

° Watch Video Solution



https://dl.doubtnut.com/l/_7rr6SRUKO3FU
https://dl.doubtnut.com/l/_FYGvLdtKDvrb

13. Find the area of a segment of a circle of radius 2 km , if the arc of

the segment has a measure of 60° .

o Watch Video Solution

14. Find the radius of the circle whose area is equal to the sum of the

areas of three smaller circles of radii3 cm,4 cmand 12 cm.

o Watch Video Solution

15. The minute hand of a clock is 8 cm long. Find the area swept by the

minute hand between 8.30 a.m . And 9.00 a.m.

o Watch Video Solution



https://dl.doubtnut.com/l/_YjtFM2NAU2mJ
https://dl.doubtnut.com/l/_w4HQaF8VeWe4
https://dl.doubtnut.com/l/_juqCdIX81CiD

16. A horse is tethered to a corner of a rectangular field 80 m by 50 m
by a rope of length 7 m . Find the area over which it can graze . Also

find the area beyond his reach .

° Watch Video Solution

17. Find the radius of a circle whose circumference is sum of the
circumferences of ten circles of radii4 cm,7cm,10cm,13cm .. .....

etc.

o Watch Video Solution

Unit Vi Area Related To Circle Areas Related To Circles Long Answer Type

Questions

1. All the vertices of a rhombus lie on a circle. Find the area of the

rhombus, if area of the circle is 1256¢cm? . (usem = 3.14)


https://dl.doubtnut.com/l/_NRz1ASsB450d
https://dl.doubtnut.com/l/_1pTQiV9mUePQ
https://dl.doubtnut.com/l/_cJ5SLJ3uTetj

o Watch Video Solution

2.In figure ,APB and AQO semicircle , and AO = OB . If the perimeter of

the figure is 40 cm , find the area of the shaded region .

o Watch Video Solution

3.In figure, is shown a sector OAP of a circle with centre O, containing
/0 . AB is perpendicular to the radius OA and meets OP produced at B .

Prove that the perimeter of  shaded region is


https://dl.doubtnut.com/l/_cJ5SLJ3uTetj
https://dl.doubtnut.com/l/_gUX8QPqle8kn
https://dl.doubtnut.com/l/_H2Nz7XqWcDXZ

70
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o Watch Video Solution

4. A wire is looped in the form of a circle of radius 28 cm. It is re-bent

into a square form. Determine the length of the side of the square.

o Watch Video Solution



https://dl.doubtnut.com/l/_H2Nz7XqWcDXZ
https://dl.doubtnut.com/l/_SPrjO3SOAlsB

5. The sum of the radii of two circles is 140 cm and the difference of

their circumferences is 88 cm. Find the diameters of the circles.

° Watch Video Solution

6. PQRS is a diameter of a circle of radius 6cm. The lengths PQ,QR and
RS are equal. Semicircles are drawn with PQ and QS is diameters, as
shown in the given figure. If PS = 12cm, find the perimeter and area

of the shaded region.


https://dl.doubtnut.com/l/_SPrjO3SOAlsB
https://dl.doubtnut.com/l/_HEBm2U3p4iSw
https://dl.doubtnut.com/l/_VYXd4nQuITcy

[Take m = 3.14]

o Watch Video Solution

Unit Vi Area Related To Circle Surface Areas And Volumes Multiple Choice

Questions

1. A solid is hemispherical at the bottom and conical (of same radius)
above it . If the surface areas of the two parts are equal then the ratio

of its radius and the slant height of the conical part is


https://dl.doubtnut.com/l/_VYXd4nQuITcy
https://dl.doubtnut.com/l/_sapwNJJSGbe8

Al:3
B.1:4/3
C.1:1

D.1:7

Answer: B

o Watch Video Solution

2. Aright circular cylinder of radius r cm and height h cm ( where , h gt

2r) just encloses a sphere of diameter

A.rcm

B.2r cm

C.hcm

D.2h cm


https://dl.doubtnut.com/l/_sapwNJJSGbe8
https://dl.doubtnut.com/l/_8pkW8l6fOwc3

Answer: B

o Watch Video Solution

3. Asolid sphere of radius r is melted and cast into the shape of a solid
cone of height r , the radius of the base of the cone is 2r (b) 3r (c) r (d)

4r

A. 2r

B. 3r

D. 4r

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8pkW8l6fOwc3
https://dl.doubtnut.com/l/_NIqubrMFxlAq

Unit Vi Area Related To Circle Surface Areas And Volumes Very Short

Answer Type Questions

1. A right circular cone of radius 3 cm , has a curved surface area of

47.1cm?2. Find the volume of the cone ,(use = 3.14)

o Watch Video Solution

2.In Figure , a decorative block, made up of two solids a cube and a
hemisphere . The base of the block is a cube of side 6 cm and the

hemisphere fixed on the top has a diameter of 3.5 cm .Find the total


https://dl.doubtnut.com/l/_tzvYs53vVaz3
https://dl.doubtnut.com/l/_zrNKvBEKI5Us

surface area of the block (use m = 7)

o Watch Video Solution

3. 2 cubes each of volume 64\ cm? are joined end to end. Find the

surface area of the resulting cuboid.

o Watch Video Solution



https://dl.doubtnut.com/l/_zrNKvBEKI5Us
https://dl.doubtnut.com/l/_Bu2O2DS8jYtj

1
4. If we reduce the height of a cyliner by 1 and double the radius ,

what will be the impact on the volume ?

o Watch Video Solution

Unit Vi Area Related To Circle Surface Areas And Volumes Short Answer

Type Questions

1. A vessel in the form of a hollow hemisphere mounted by a hollow
cylinder. The diameter of the hemisphere is 14 cm and the total height

of the vessel is 13 cm. Find the inner surface area of the vessel.

o Watch Video Solution

2. A 20 m deep well with diameter 7 m is dug and the earth from
digging is evenly spread out to form a platform 22 m by 14 m. Find the

height of the platform.


https://dl.doubtnut.com/l/_kdbH8ePCOZZi
https://dl.doubtnut.com/l/_qcEPZCIXXIXn
https://dl.doubtnut.com/l/_54horZyVi9kK

o Watch Video Solution

3. Metallic spheres of radii 6 cm, 8 cm and 10 cm respectively, are
melted to form a single solid sphere. Find the radius of the resulting

sphere.

o Watch Video Solution

4. A pen stand made of wood is in the shape of a cuboid with four
conical depressions to hold pens. The dimensions of the cuboid are 15
cm by 10 cm by 3.5 cm. The radius of each of the depressions is 0.5 cm

and the depth is 1.4 cm. Find the volume o

o Watch Video Solution



https://dl.doubtnut.com/l/_54horZyVi9kK
https://dl.doubtnut.com/l/_kzRmeT7vKK59
https://dl.doubtnut.com/l/_O4YwglZyrH3U

5.In figure , a tent is in the shape of a cylinder surmounted by a conical

top of same diameter . If the height and diameter of cylindrical part are

2.1 m and 3 m respectively and the slant height of conical part is 2.8 m

, find the cost of convas needed to make the tent if the canvas is
22

available at the rate of rupees 500/sq.metre .( use 7 = 7)

—3m —p

o Watch Video Solution



https://dl.doubtnut.com/l/_dBwZ78Sg7afQ

6. A toy is in the form of a cone mounted a hemisphere of diameter 7

cm. the total height of the toy is 14.5 cm. find the volume and the total

22

surface area of the toy. (Take m = 7).

o Watch Video Solution

7.The sum of radius of base and height of a solid right circular is 37 cm

. If the total surface area of the solid cylinder is 1628 sq.cm ,find the

22
volume of the cylinder ,(usem = —)

7

o Watch Video Solution

8. A well of diameter 4 m is dug 21 m deep . The earth taken out of ot
has been spread envenly all around it in the shape of a circular ring of
width 3 m to form an embankment .Find the height of the

embankment .



https://dl.doubtnut.com/l/_dBwZ78Sg7afQ
https://dl.doubtnut.com/l/_VHxW79MwDUBP
https://dl.doubtnut.com/l/_h3rMT77HtjyD
https://dl.doubtnut.com/l/_axaWipNKFnG8

o Watch Video Solution

9. A sphere of diameter 6 cm is dropped in a right circular cylindrical
vessel partly filled with water. The diameter of the cylindrical vessel is
12 cm. If the sphere is completely submerged in water, by how much

will the level of water rise in the cylindrical vessel?

o Watch Video Solution

10. From a solid cylinder whose height is 12 cm and diameter 10 cm , a
conical cavity with the same base and height is taken out . Find the

total surface area of the ramaining solid .

o Watch Video Solution



https://dl.doubtnut.com/l/_axaWipNKFnG8
https://dl.doubtnut.com/l/_x7n50aA1OpxN
https://dl.doubtnut.com/l/_k9BUhJldTqFW

11. Three identical cubes each of volume 343 are joined end to end .

Find the surface area of the resulting cuboid .

o Watch Video Solution

12. A solid metallic sphere of diameter 16 cm is melted and recast into a
number of smaller cones each of radius 4 cm and height 8 cm. Find the

number of cones so formed.

o Watch Video Solution

13. From a solid cylinder of height 24 cm and radius 7 cm , a conical
cavity of the same height and same radius is taken out . Find the

volume of remaining solid .

o Watch Video Solution



https://dl.doubtnut.com/l/_ueTSTagdPo8A
https://dl.doubtnut.com/l/_6zFkwHi2VnMu
https://dl.doubtnut.com/l/_Zr9CxNG7n4ww
https://dl.doubtnut.com/l/_m3eZqAJdqh0V

14. Karuna bought ice cream ( in a plastic cone of radius 3.5 cm and
height 7 cm ) for Rs 20 . Rajat bought ice cream ( in a plastic cylinder
for radius and height 7 cm and 3.5 cm ) for Rs 20 . Which is a better

deal ? Why ?

o Watch Video Solution

Unit Vi Area Related To Circle Surface Areas And Volumes Long Answer

Type Questions

1. A tent is in the shape of a cylinder surmounted by a conical top. If
the height and diameter of the cylindrical part are 21 m and 4 m
respectively, and the slant height of the top is 2.8 m, find the area of

the canvas used for making the tent. A

o Watch Video Solution



https://dl.doubtnut.com/l/_m3eZqAJdqh0V
https://dl.doubtnut.com/l/_4K3WSNPisUoM

2. A medicine capsule is in the shape of acylinder with two hemispheres
stuck to each of its ends. The length of the entire capsule is 14 mm and

the diameter of the capsule is 5 mm. Find its surface area.

o Watch Video Solution

3. Due to heavy floods in a state, thousands were rendered homeless.
50 schools collectively offered to the state government to provide
place and the canvas for 1500 tents to be fixed by the government and
decided to share the whole expenditure equally. The lower part of each
tent is cylindrical of base radius 2.8 m and height 3.5 m, with conical
upper part of same base radius but of height 2.1 m. If the canvas used
to make the tents costs Rs. 120 per sq. m, find the amount shared by
each school to set up the tents. What value is generated by the above
22

problem ? (Use m = 7)

o Watch Video Solution



https://dl.doubtnut.com/l/_wPocC8grvcU4
https://dl.doubtnut.com/l/_PoeGqn5M1ySi

4. A cylinderical container of diameter 12 cm and height 15 cm is filled
with ice cream. The whole ice cream has to be distributed to 10
children in equal cones with hemispherical tops. If the height of the
conical portion is four times the radius of its base, find the radius of

the ice cream cone.

o Watch Video Solution

5. A hemispherical tank full of water is emptied by a pipe at the rate of
4
37 litres per second. How much time will it take to make the tank half-

empty, if the tank is 3 m in diameter?

° Watch Video Solution

6. A farmer connects a pipe of internal diameter 25 cm from a canal

into a cylindrical tank in his field, which is 12 m in diameter and 2.5m


https://dl.doubtnut.com/l/_zcdNRdgzIHUE
https://dl.doubtnut.com/l/_9xwyUjyMbAlc
https://dl.doubtnut.com/l/_604gJePftM93

deep. If water flows through the pipe at the rate of 3.6 km/hr, in how

much time will the tank be filled ? Also, find the cost of water if the

canal depertment charges at the rate of ¥ 0.07 per m?.

o Watch Video Solution

7. A solid metallic sphere of diameter 21 cm is melted and recast into a
number of smaller cones, each of diameter 3.5 cm and height 3 cm.

Find the number of cones so formed.

o Watch Video Solution

8. Water in a canal, 6 m wide and 1.5 m deep, is flowing with a speed of
10 km/h. How much area will it irrigate in 30 minutes, if 8 cm of

standing water is needed?

° Watch Video Solution



https://dl.doubtnut.com/l/_604gJePftM93
https://dl.doubtnut.com/l/_oFz1w02nSGut
https://dl.doubtnut.com/l/_BdNAZodqOEGo
https://dl.doubtnut.com/l/_PefGcmanMhIK

9. A well of diameter 4 m and depth 21 m is dug . The earth taken out of
it is evenly spread all around it in the shape of a circular ring of width 3

m to form an embankment . Find the height of the embankment .

o Watch Video Solution

10. The height of a cone is 30 cm .A small cone is cut off at the top by a

1
plane parallel to the base . If its volume be o7 of the volume of the

given cone, at what height above the base the section has been made?

° Watch Video Solution

11. A vessel is in form of an inverted cone . Its height is 8 cm and the
radius is 5 cm . It is filled with water up to the rim When lead shots,
each of which is a sphere of radius 0.5 cm , are dropped into the vessel
, one fifth of the water flows out . Find the number of lead shots

dropped into the water .


https://dl.doubtnut.com/l/_PefGcmanMhIK
https://dl.doubtnut.com/l/_5A4l9sXmXkbf
https://dl.doubtnut.com/l/_OJlf6TUBBTEU

o Watch Video Solution

12. A farmer connects a pipe of internal diameter 20 cm from a canal
into a cylindrical tank in her field, which is 10 m in diameter and 2 m
deep. If water flows through the pipe at the rate of 3 km/h, in how

much time will the tank be filled?

o Watch Video Solution

13. A conical vessel of radius 6cm and height 8cm is completely filled
with water. A sphere is lowered into the water and its size is such that
when it touches the sides, it is just immersed as shown Figure. What

fraction of water over flows?

o Watch Video Solution

Unit Vii Statistics And Probability Statistics Multiple Choice Questions



https://dl.doubtnut.com/l/_OJlf6TUBBTEU
https://dl.doubtnut.com/l/_rYu043DKGbZg
https://dl.doubtnut.com/l/_xJX8AUae7vSh

1. Empiricla relationship between the three measures of central

tendency is

A. 2 Mean =3 Median - Mode

B. 2 Mode =3 Median - Mean

C. mode =2 Mean - 3 Median

D. 3 median =2 Mode + Mean

Answer: A

° Watch Video Solution

2. If the 'less than ' and the 'more than' ogive given intersect at the
point (27,34) , then find the median of the distribution and also find

the total number of observations .


https://dl.doubtnut.com/l/_2nnRqx8y7vVg
https://dl.doubtnut.com/l/_ktULMkTsBHXh

A. 2734

B. 54,34

C. 54,68

D. 27,68

Answer: D

o Watch Video Solution

3.If the mode of a data is 45 and mean is 27 , then the median is

A.30

B. 27

C.33

D. none of the above

Answer: C


https://dl.doubtnut.com/l/_ktULMkTsBHXh
https://dl.doubtnut.com/l/_2JinACG7tCkx

o Watch Video Solution

4. A set of numbers consists of three 4's , two 5"s , six 6's , eight 8's and

sevan 10's What is the mode of this collection of numbers ?

A.10

B.7.5

C.7

D.8

Answer: D

o Watch Video Solution

5. Which measure of central tendency is given by the x -coordinate of

the point of intersection of the more than ogive and less than ogive?


https://dl.doubtnut.com/l/_2JinACG7tCkx
https://dl.doubtnut.com/l/_kEyVsXKkcNKy
https://dl.doubtnut.com/l/_iY8a99ZsYnHa

A. mean

B. median

C. mode

D. none of the above

Answer: B

o Watch Video Solution

6. While computing mean of grouped data, we assume that the

frequecies are

A. evenly distributed over all the class

B. centered at the class mariks of the class

C. centered the upper limits of the class

D. centered the lower limits of the class


https://dl.doubtnut.com/l/_iY8a99ZsYnHa
https://dl.doubtnut.com/l/_NiB4WJsCJph8

Answer: B

° Watch Video Solution

7.The wickets taken by a bowler in 10 cricket matches are as follows: 2

645021323 Find the mode of the data.

A1l

B.2

C.4

D.3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NiB4WJsCJph8
https://dl.doubtnut.com/l/_WfScbleJO0lA

8. Find the sum of frequencies

A.90

B. 80

C.100

D. 88

Answer: C

| |


https://dl.doubtnut.com/l/_s6L3Vu5kfqkl

[ W Watch Video Solution ]

9, Find the lower limit of the median class

150 - 155 15
155 =160 13
160 - 165 10
165 - 170 8
170-175 9
175-180 5

A. 165

B. 155

C.160

D.170

Answer: C


https://dl.doubtnut.com/l/_s6L3Vu5kfqkl
https://dl.doubtnut.com/l/_TK4InIbe9y9b

o Watch Video Solution

Unit Vii Statistics And Probability Statistics Very Short Answer Type

Questions

1. In a frequency distribution , if a =assumed mean = 55 ,
Zf,- =100, ~h = 10 and Zfi,ui = — 30, then find the mean of

the distribution.

o Watch Video Solution

2. Find mode , using an empirical relation , when it is given that mean

and median are 10.5 and 9.6 repsectively .

o Watch Video Solution



https://dl.doubtnut.com/l/_TK4InIbe9y9b
https://dl.doubtnut.com/l/_TE2HV5q1RnW5
https://dl.doubtnut.com/l/_X7E9iXKuFOGW

3. In a frequency distribution mode is 7.88 , mean is 8.32 find the

median

o Watch Video Solution

4.The class in which mode liesis called as ... ... ...

o Watch Video Solution

5.1f mean = 31.04 and median = 30.625 , then find the mode.

o Watch Video Solution

6. The mean and median of a distribution are both equal to 635.97

.Find the mode..

° Watch Video Solution



https://dl.doubtnut.com/l/_rgFZpfDMfjWx
https://dl.doubtnut.com/l/_JQrg5p4DE5f6
https://dl.doubtnut.com/l/_IBTpH7A8j9Bu
https://dl.doubtnut.com/l/_SCEn9J1tD6QF

Unit Vii Statistics And Probability Statistics Short Answer Type Questions

1. If the mean of the following distribution is 54 , find the missing

frequency x:

p— At e Sl

0-20| 20-40 | 40-60 | 60 -80 | 80 - 100

Frequency | 16 14 24 2% »

o Watch Video Solution

2. The following table shows the distribution of weights of 100

candiates appearing for a competition . Determine the modal weight .


https://dl.doubtnut.com/l/_SCEn9J1tD6QF
https://dl.doubtnut.com/l/_sxpBYgs6qJhp
https://dl.doubtnut.com/l/_8DuoH862aWxf
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o Watch Video Solution

3.Some students of Class X donated for the welfare of old age persons

. Their contributions are shown in the following frequnecy distribution


https://dl.doubtnut.com/l/_8DuoH862aWxf
https://dl.doubtnut.com/l/_1btD89ENH011

Find median and mode for their contribution .

o Watch Video Solution

4. The average score of boys in an examination of a school is 71 and
that of girls is 73. The average score of school in that examinations is

71.8. The ratio of the number of boys to the number of girls appeared

in the examination, is

o Watch Video Solution



https://dl.doubtnut.com/l/_1btD89ENH011
https://dl.doubtnut.com/l/_2OEkB3OB7Rof

5. The following data gives the information on the observed lifetimes
(in hours) of 225 electrical components: Determine the modal lifetimes

of the components.

° Watch Video Solution

6. Determine the missing frequnecy x , from the following data , when

Mode is 67 .

Class
Frequency | 5 x 15 12 7

° Watch Video Solution



https://dl.doubtnut.com/l/_rzosnNx0Su98
https://dl.doubtnut.com/l/_DuxrdUxeEyQx

7.Find the unknown values in the following table :

Class interval | Frequency | Cumulative frequency
0-10 5 5
10 - 20 7 Xy
20 -30 X3 18
30-40 5 *3
40 - 50 X, 30

o Watch Video Solution

8. The mode of a distribution is 55 and the modal class is 45-60 and the
frequency preceding the modal class is 5 and the frequnecy after the

modal class is 10 . Find the frquency of the modal class .

o Watch Video Solution

9. Find the mean of 30 numbers given mean of ten of them is 12 and

the mean of remaining 20is 9.



https://dl.doubtnut.com/l/_sKNkw0lfRJJb
https://dl.doubtnut.com/l/_fGtnRfaN3RHd
https://dl.doubtnut.com/l/_VghHbx992tBD

| o Watch Video Solution

10. The mean of 5 numbers is 10 . If 3 decrease each number , find the

mean of the new number .

o Watch Video Solution

11. The median of a data is 20 . If each item is increased by 2, find the

new median .

o Watch Video Solution

12. The mean of 20 observations is 12 . If each observation is increased

by 5, then find the new mean .

° Watch Video Solution



https://dl.doubtnut.com/l/_VghHbx992tBD
https://dl.doubtnut.com/l/_O3sylBA0HSYS
https://dl.doubtnut.com/l/_PwvgeOCN8j8l
https://dl.doubtnut.com/l/_dR6e8EKl7lyR
https://dl.doubtnut.com/l/_BBIA6v9xXOSh

13.The mean of 6,6 4+ 2z, 5 and 8 and 8 + 3z is 20. Find the value of

o Watch Video Solution

14. Find the Mode of the following data :

10-14 30
15-19 45
20-24 75
25-29 35
30-34 25
35-39 10

- -

Also if the Median of the distribution is 20.8 , find the Mean .

o Watch Video Solution

Unit Vii Statistics And Probability Statistics Long Answer Type Questions



https://dl.doubtnut.com/l/_BBIA6v9xXOSh
https://dl.doubtnut.com/l/_Z89zJLHPoxvi

1. The lengths of 50 leaves of a plant are measured correct to the
nearest millimetre and the data obtained is represented in the

following table .

Length (inmm) | No.ofleaves |

109 - 117 4
118 -126 6
127 - 135 14
136 - 144 13
145-153 6
154 - 162

163 - 171 3

Find the mean length of the leaves .

o Watch Video Solution

2. about to only mathematics

o Watch Video Solution



https://dl.doubtnut.com/l/_tfSPYhzymyMl
https://dl.doubtnut.com/l/_krGnrQCx1uXE

3. If the median of the following frequency distribution is 32.5 .Find the

values of f; and f5.

o R g S ;
| o0-10 f,
10-20 5
20-30 9
3040 12
40-50 fa
50— 60 3
60— 70 2
Total 20

o Watch Video Solution

1 1
4.The mean of x and — is N then the mean of 2 and — is
T T

o Watch Video Solution



https://dl.doubtnut.com/l/_Wo6ULvFWjYlT
https://dl.doubtnut.com/l/_EXfEAAK998b4

Unit Vii Statistics And Probability Probability Multiple Choice Questions

1. A number is <chosen at random from the numbers

-5, —4, -3, —2, —1,0,1,2,3,4,5. Then the probability that

square of this number is less than or equal to 1is

Answer: C

o Watch Video Solution

2. Find the probability that a leap year will have 53 Friday or 53

Saturdays.


https://dl.doubtnut.com/l/_QKDjGgdQsb6l
https://dl.doubtnut.com/l/_kfaV3xUfdj7z

>
o

N
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Answer: C

o Watch Video Solution

3. One card is drawn from a well shuffled deck of 52 cards. The

probability that it is black queen is


https://dl.doubtnut.com/l/_kfaV3xUfdj7z
https://dl.doubtnut.com/l/_iNHWRowrQG0u

Answer: A

o Watch Video Solution

4. Probability that tomorrow will be holiday is 0.58 . Probability that

tomorrow will not be a holiday is

o Watch Video Solution

5. Which of the following cannot be the probability of an event ?

A.0.7

B.O

C.1.2

D.0.18

Answer: C


https://dl.doubtnut.com/l/_iNHWRowrQG0u
https://dl.doubtnut.com/l/_AcUfk3hfkkVc
https://dl.doubtnut.com/l/_GnxW9uO2fmB3

o Watch Video Solution

6. The probability of getting a bad egg in a lot of 400 is 0.035. The

number of bad eggs in the lot is

A7

B.14

C. 21

D. 28

Answer: B

o Watch Video Solution

Unit Vii Statistics And Probability Probability Very Short Answer Type

Questions



https://dl.doubtnut.com/l/_GnxW9uO2fmB3
https://dl.doubtnut.com/l/_fjr85KYuwzFe

1. A letter of English alphabet is chosen at random. Determine the

probability that the chosen letter is a consonant.

o Watch Video Solution

2. 20 tickets, on which numbers 1 to 20 are written, are mixed
throughly and then a ticket is drawn at random out of them. Find the

probability that the number on the drawn ticket is a multiple of 3 or 7.

o Watch Video Solution

3. A card is drawn at random from a well shuffled pack of 52 playing

cards. Find probability of getting neither a red card nor a queen.

o Watch Video Solution



https://dl.doubtnut.com/l/_QBP1YbMCu4xG
https://dl.doubtnut.com/l/_gaFRACtoiMkV
https://dl.doubtnut.com/l/_V8NcI8pCSuH1

4. Cards marked with numbers 3,4, 5...... 50 are placed in a box and
mixed throughly. A card is drawn at random from the box, find the

probability that the selected card bears a perfect square number.

° Watch Video Solution

5. In the adjoining figure a dart is thrown at the dart board and lands
in the interior of the circle . What is the probability that the dart will

land in the shaded region.



https://dl.doubtnut.com/l/_EoN4vl3UBVqL
https://dl.doubtnut.com/l/_viSpiogVNjCS

| ° Watch Video Solution

6. A number x is selected from the numbers 1,2,3 and then a second
number y is randomly selected from the numbers 1,4,9. What is the

probability that the product xy of the two numbers will be less than 9?

o Watch Video Solution

7. An integer is chosen at random from list two hundred natural
numbers then the probability that integer is either divisible by 2,6 or 8

is

o Watch Video Solution

8. An integer is chosen between 70 and 100, Find the probability that it

is.


https://dl.doubtnut.com/l/_viSpiogVNjCS
https://dl.doubtnut.com/l/_QSyGxknbSmjJ
https://dl.doubtnut.com/l/_1wl68sX0eaVb
https://dl.doubtnut.com/l/_06kalu2PNOHN

(a) a prime number

(b) divisible by 7

o Watch Video Solution

9. An integer is chosen between 0 and 100. What is the probability that
it is

(i) divisible by 7 (ii) not divisible by 77

° Watch Video Solution

10. Jayanti throws a pair of dice and records the product of the
numbers appearing on the dice. Pihu throws 1 dice and records the
squares the number that appears on it. Who has the better chance of

getting the number 367 Justify?

° Watch Video Solution



https://dl.doubtnut.com/l/_06kalu2PNOHN
https://dl.doubtnut.com/l/_0bjdxSm1QoFR
https://dl.doubtnut.com/l/_D8xEDfAmVzU0
https://dl.doubtnut.com/l/_TyZhTJBZ4Gsr

1. If two coins are tossed simultaneously. Find the probability of

getting 2 heads.

o Watch Video Solution

12. A lot of 25 bulbs contain 5 defective ones. One bulb is drawn at

random from the lot. What is the probability that the bulb is good.

° Watch Video Solution

13.Adie is rolled , Find the probability of getting a 6.

o Watch Video Solution

14. There are 5 blue , 6 red and 7 green balls in a bag . If a ball is picked

up at random ,what is the probability of getting a non blue ball ?

[ |


https://dl.doubtnut.com/l/_TyZhTJBZ4Gsr
https://dl.doubtnut.com/l/_YE4WOje02K5Q
https://dl.doubtnut.com/l/_Vb2ZX9DrOlar
https://dl.doubtnut.com/l/_v9LNe4bH3c4Q

| @J Watch Video Solution

15. Find the probability of 53 Sundays in an ordinary year.

o Watch Video Solution

Unit Vii Statistics And Probability Probability Short Answer Type

Questions

1. A game of chance consists of spinning an arrow on a circular board ,
divided into 8 equal parts , which comes to rest pointing at one of the
numbers 1,2,3,...8 which are equally likely outcomes . What is the
probability that the arrow will point

(a) at an odd number

(b) @a number greater than 3


https://dl.doubtnut.com/l/_v9LNe4bH3c4Q
https://dl.doubtnut.com/l/_OOni7dXWVmbd
https://dl.doubtnut.com/l/_qf2wob7MbYGF

(c) a number less than 9.

o Watch Video Solution

2. A game consists of tossing a one-rupee coin three times and noting
its outcome each time. Hanif wins if all the tosses give the same result,
i.e.,, three heads or three tails and loses otherwise. Calculate the

probability that Hanif will lose the game.

o Watch Video Solution



https://dl.doubtnut.com/l/_qf2wob7MbYGF
https://dl.doubtnut.com/l/_hCAVR33GzPXw

3. There are hundred cards in a bag on which numbers from 1 to 100
are written. A card is taken out from the bag at random. Find the
probability that the number on the selected card.

It is divisible by 9 and is a perfect square

o Watch Video Solution

4. There are hundred cards in a bag on which numbers from 1 to 100
are written. A card is taken out from the bag at random. Find the
probability that the number on the selected card.

is a prime number greater than 80.

o Watch Video Solution



https://dl.doubtnut.com/l/_hCAVR33GzPXw
https://dl.doubtnut.com/l/_LDQFYgDBqlAB
https://dl.doubtnut.com/l/_1iksOqD951Vo

5. From a pack of 52 playing cards , Jacks , Queens and Kings of red
colour red colour are removed . From the remaining , a card is drawn at
random . Find the probability that drawn card is :

a black king

o Watch Video Solution

6. From a pack of 52 playing cards Jacks, queens, kings and aces of red
colour are removed. From the remaining, a card is drawn at random.
Find the probability that the card drawn is : a black queen (ii) a red

card (iii) a black jack

o Watch Video Solution

7. From a pack of 52 playing cards , Jacks , Queens and Kings of red

colour red colour are removed . From the remaining , a card is drawn at


https://dl.doubtnut.com/l/_Gw0CzVhDLG7n
https://dl.doubtnut.com/l/_B6D1fxjcKEHB
https://dl.doubtnut.com/l/_Tyxc0zTZQjyZ

random . Find the probability that drawn card is :

a card of black colour .

o Watch Video Solution

8. Three different coins are tossed together
getting

exactly two heads

. Find the probability of

o Watch Video Solution

9. Three different coins are tossed together
getting

at least two heads

. Find the probability of

o Watch Video Solution



https://dl.doubtnut.com/l/_Tyxc0zTZQjyZ
https://dl.doubtnut.com/l/_kEp3NEkWMYxb
https://dl.doubtnut.com/l/_0zhiMtFKoPVK

10. Three different coins are tossed together . Find the probability of
getting

at least two tails .

o Watch Video Solution

11. Salesman was having a lot of 100 shirts of which 88 are good, 8 have
minor defects and 4 have major defects. Suresh, a shopkeeper will buy
only those shirts which are good. If a shirt is selected at random from

the lot, what is the probability that he will buy the shirt?

° Watch Video Solution

12. A box consists of 100 shirts of which 88 are good , 8 have minor
defects and 4 have major defects . Ramesh , a shopkeeper will buy only

those shirt which are good but 'Kewal ' another shopkeeper will not


https://dl.doubtnut.com/l/_T1YEGY4xJ8TB
https://dl.doubtnut.com/l/_LPDDtmNqAXhh
https://dl.doubtnut.com/l/_jJ3AQhdKymLY

buy shirts with major defects . A shirt is taken out of the box at
random What is the probability that

'Kewal' will buy the selected shirt ?

o Watch Video Solution

13. Two different dice are thrown together .Find the probability of :

getting a number greater than 3 on each die.

° Watch Video Solution

14. Two different dice are thrown together .Find the probability of :

getting a total of 6 or 7 of the numbers on two dice .

o Watch Video Solution



https://dl.doubtnut.com/l/_jJ3AQhdKymLY
https://dl.doubtnut.com/l/_bCAIAVYhK6TE
https://dl.doubtnut.com/l/_kUltBxzvF1xX

15. In a single throw of a pair of different dice, what is the probability
of getting
(i) a prime number on each dice

(ii)a total of 9 or 117

o Watch Video Solution

16. In a single throw of a pair of different dice, what is the probability
of getting
(i) a prime number on each dice

(ii)a total of 9 or 117

o Watch Video Solution

17. A bag contains 5 red balls and some blue balls. If the probability of

drawing a blue ball is double that of a red ball, determine the number


https://dl.doubtnut.com/l/_8HTFFe9k2ROF
https://dl.doubtnut.com/l/_G751Jks6tvFb
https://dl.doubtnut.com/l/_CPDEVUAitOOk

of blue balls in the bag.

° Watch Video Solution

18. A bag contains 8 red balls and x blue balls , the odd against drawing

a blue ball are 2: 5 What is the value of x ?

o Watch Video Solution

19. A box contains 12 balls out of which x are black. If one ball is drawn
at random from the box, what is the probability that it will be a black
ball? If 6 more black balls are put in the box, the probability of drawing

a black ball is now double o

o Watch Video Solution



https://dl.doubtnut.com/l/_CPDEVUAitOOk
https://dl.doubtnut.com/l/_s6Lx7EdIlb63
https://dl.doubtnut.com/l/_E8t253tJbakI

20. A die is rolled. Find the probability of getting a number greater

than 6.

o Watch Video Solution

21. Adie is rolled , find the probability of getting

a number less than 10.

o Watch Video Solution

22.Find the probability of having 5 Mondays in the month of August .

o Watch Video Solution

23. There are cards in a bag numbered from 7 to 100 . A card is taken

out from the bag at random . Find the probability that the number on


https://dl.doubtnut.com/l/_0cSlAvgJZi8J
https://dl.doubtnut.com/l/_Uewz33ZSCv88
https://dl.doubtnut.com/l/_yQ6WAZegl94X
https://dl.doubtnut.com/l/_517SfnS6Q4ro

the selecteed card :

Is an even perfect square.

° Watch Video Solution

24. There are hundred cards in a bag on which numbers from 1 to 100
are written. A card is taken out from the bag at random. Find the
probability that the number on the selected card.

is a prime number greater than 80.

° Watch Video Solution

25. A bag contains tickets numbered from 10 to 50 . One ticket is drawn
at random . Find the probability that the number on the card is (i)

prime (ii) a perfect square .

° Watch Video Solution



https://dl.doubtnut.com/l/_517SfnS6Q4ro
https://dl.doubtnut.com/l/_nngewiNkAGsJ
https://dl.doubtnut.com/l/_Q9dlpyQ0mY6V
https://dl.doubtnut.com/l/_8fNiwTSuUPXN

26. A bag contains 24 balls of which x are red, 2x are hwite and 3x are
blue. A ball is selected at random. What is the probability that it is

(i) not red? (ii) white

o Watch Video Solution

27. A bag contains 24 balls of which x are red, 2x are hwite and 3x are
blue. A ball is selected at random. What is the probability that it is

(i) not red? (ii) white

o Watch Video Solution

28.Three unbiased coins are tossed. What is the probability of getting

at most two heads ?

o Watch Video Solution



https://dl.doubtnut.com/l/_8fNiwTSuUPXN
https://dl.doubtnut.com/l/_6ODQCr0jX7Q3
https://dl.doubtnut.com/l/_wTDbiSKID4vr
https://dl.doubtnut.com/l/_ry3FlQlIZvuD

29. Three unbiased coins are tossed together . What is the probability
of getting

at least one head ?

o Watch Video Solution

30. A die is thrown twice. What is the probability that:
(i) 3 will not come up either time?

(ii) 3 will come up at least once?

o Watch Video Solution

31. Adie is thrown twice . What is the probability that :

3 will come up at least once ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ry3FlQlIZvuD
https://dl.doubtnut.com/l/_5H8yFrJUQ60F
https://dl.doubtnut.com/l/_6kk6z7YhKHOB

32. The quality control officer at a tire factory reported that 20 tires
were defective out of a sample of 10, 000 tires . A tire is selected , what

are the chances that the tire selected is not defective ?

o Watch Video Solution

Unit Vii Statistics And Probability Probability Long Answer Type Questions

1. In Fig., shown a disc on which a player spins an arrow twice. The
function % is formed, where 'a' is the number of sector on which arrow
stops on the first spin and 'b' is the number of the sector in which the
arrow stops on second spin. On each spin, each sector has equal

chance of selection by the arrow. Find the probability that the fraction


https://dl.doubtnut.com/l/_Bv3fV2mH61Dy
https://dl.doubtnut.com/l/_nauP4ndy14ms

o Watch Video Solution

2. A number x is selected at random from the numbers 1,4,9,16 and
another number is selected at random from the numbers 1,2,3,4 .Find

the probability that the value of xy is more than 16 .

o Watch Video Solution



https://dl.doubtnut.com/l/_nauP4ndy14ms
https://dl.doubtnut.com/l/_jvnp6Tv7HhiZ

3. A number x is selected at random from the numbers 1, 2, 3 and 4.
Another number y is selected at random from the numbers 1, 4, 9 and

16. Find the probability that product of x and y is less than 16.

° Watch Video Solution

4. A jar contains 54 marbles each of which is blue, green or white. The
1
probability of selecting a blue marble at random from the jar is —,
4
and the probability of selecting a green marble at random is —. How

9

many white marbles does the jar contain?

o Watch Video Solution

5. One card is drawn from a well-shuffled deck of 52 cards. Find the

probability of getting : a spade

o Watch Video Solution



https://dl.doubtnut.com/l/_jFFPDA3u6KZf
https://dl.doubtnut.com/l/_MhVqdBiiGO4n
https://dl.doubtnut.com/l/_Ru4SonEAessG

6. A card is drawn from a well shuffled deck of cards

What are the odds against getting a spade ?

° Watch Video Solution

7. A card is drawn from a well - shuffled deck of 52 cards. Find (i) the
odds in favour of getting a face card, and (ii) the odds against getting

a spade.

° Watch Video Solution

8. A card is drawn from a well shuffled deck of cards

What are the odds in favour of getting a red king .

o Watch Video Solution



https://dl.doubtnut.com/l/_Ru4SonEAessG
https://dl.doubtnut.com/l/_OJdes5bkwklE
https://dl.doubtnut.com/l/_ym0a6udWDk9B
https://dl.doubtnut.com/l/_sG7FrXlScOj1
https://dl.doubtnut.com/l/_ih0mqu5JPYHS

9. A pair of dice are rolled simultaneously .Find the pobability of

getting a (i) sum of 9 or 11 on the dice (ii) product of 6 on the dice .

° Watch Video Solution

10. From a deck of playing cards , an clubs , aces and jacks are removed
.The deck is shuffled well and then a card is drawn ot at random . What
is the probability that the card drawn is (i) a queen (ii) a face card (iii) a

red card?

o Watch Video Solution

11. Two dice are rolled simultaneously .Find the probability of getting (i)

total of 8 or 10 (ii) product 12.

o Watch Video Solution



https://dl.doubtnut.com/l/_ih0mqu5JPYHS
https://dl.doubtnut.com/l/_S9qCjyfXrs8x
https://dl.doubtnut.com/l/_DLrHaoSDUEBN

12. The king, queen and jack of clubs are removed from a deck of 52
playing cards and then well shuffled. One card is selected from the
remaining cards. Find the probability of getting (i) a heart (ii) a king

(iii) a club (iv) the '10' of hearts.

o Watch Video Solution



https://dl.doubtnut.com/l/_UTeNMMB3L1yC

